#include"stdio.h"
#include"string.h"
#include"stdlib.h"
#include"ctype.h"
#include"math.h"
#define arm a 1
#define arm d 1
#define arm ac 1
#define arm t 1
#define bp3d 1
#define total cons 3

//#define LENGTH 73

int no=1, LENGTH;

int check bondl (char a, char b)
{

int c¢=0;

if((a=="a'&&b=="t") || (a=="t'&&b=="a"'") | | (a=="g'&&b=="c") | | (a=="c'&&b
=='g'))c=1;

else if((a=='t'&&b=="qg") || (a=='g'&&b=="t")) c=1;

else
if((a=="a'&&b=="'a') || (a=="g'&&b=="'qg'") || (a=="t'&&b=="t") | | (a=="c'&&b=="c")
)c=2;

else if((a=='"'c'&&b=="a'") || (a=='a'&&b=="c"')) c=2;

else if((a=='c'&&b=="t") || (a=="'t'&&b=="c")) c=2;

else if((a=='qg'&&b=="a'") || (a=='a'&&b=="qg')) c=2;

return (c) ;

int math 1str 4th(char *p,char* g,char *pl,char *ql)
{

int week const;

int i,1,3=8,%, flag;

while (j<=12)

{
for (i=strlen(p)-1;i>=j-1;--1)
{
for (1=0;1<strlen(q)-J;++1)
{
week const=1;flag=0;
for (k=0; k<j;++k)
{
if (check bondl (pli-k],gl[l+k])==0) {flag=1;break;}
if (check bondl (p[i-k],g[l+k])==2)
{
week const--;if (week const<0) {flag=1;break;}
}

}
if (flag==0)



if (J<=9%&&week const==1)
{ for (k=0;k<j;k++)
{p1[j-k-11=pli-k];ql[k]=q[l+k];}
pl(k]=ql[k]="\0";

return 1;
}

if (J>9&&week const==0)

{ for (k=0;k<j;k++)
{pl[j-k-1]=pli-k];ql[k]l=qll+k];}
pllkl=gl[k]="\0";

return 1;

}

}

}

J++;
}

return 0;

int bh loop(char *p,char *q)
{

int week const;
int i,1,3=0,%k, flag=0;

1i=0;1=2;

for (k=0;k<4; ++k)
{
if (check bondl (p[i+k],g[l+k])==1) {flag++;}

}

if (flag<3)return 0;
else
{
1=6;
for (i=7;1<9; ++1)
{
flag=0;
for (k=0;k<4;++k)

if (check _bondl (p[i+k],q[l+k])==1) {flag++;}

if (flag>=3)return 2;

return 0;



int check bond(char a, char b)

{

int c=0;

if((a=="a'&&b=="t") || (a=="t'&&b=="a'") | | (a=="g'&&b=="c') | | (a=="c'&&b
=="g"))c=1;

else if((a=='t'&&b=="qg') || (a=="g'&&b=="'t"')) c=1;

else
if((a=='a'&&b=="a'") || (a=="g'&&b=="qg") | | (a=="t'&&b=="t") | | (a=="c'&&b=="c")
) c=2;

else if((a=='"'c'&&b=="a'") || (a=='a'&&b=="c"')) c=2;

else if((a=='c'&&b=="t") || (a=='t'&&b=="c")) c=2;

else if((a=='g'&&b=="'a') || (a=='a'&&b=="'qg')) c=2;

return (c);

int check3dbp (char *bp,int a,int b,int c,int d)
{
int bp3=bp3d;

f (check bond(bp[7],bp[13])==2) bp3--;
f(check_bond(bp[l4] bp[47])==2) bp3--;
f (check bond(bp[17],bp[54])==2) bp3--;
f (check bond(bp[18],bp[55])==2) bp3--;
f (check bond(bp[25],bp[43])==2) bp3--;
f (check bond(bp[31],bp[37])==2) bp3--;
f (check bond(bp[53],bp[57])==2) bp3--;

if (bp3<0) return 0;
else
{
f (a+b+c+d+ (bp3d-bp3) <=total cons)
{
//printf ("a=%d b=%d c=%d d=%d
bp=%d\t%d\n",a, b, c,d, bp3, atb+c+d+ (bp3d-bp3)) ;getch () ;
return 1;

}

else return 0;

int check first(char *p,int 1)
{

int i,Jj,k,arm for a=arm a,m, flag,c,n;
if(pl[7]!'="t")return 0;

//if (p[15]!="g's&p[16]!="g's&p[17]!="g's&&p[18]!="g"')return 0;



//1if (!

((pl15]!="g'&&p[lo]l!="g") [ | (p[15]!="g's&&p[l6]!="a") || (p[15]!="g'&s&p[l6]!=
'c'))return O;

//1E (!
((pllel!="g'&&p[l7]!="g") [ | (p[le]l!="g'&s&p[1l7]!="a") || (p[lo]!="g'&&p[17]!=
'c'))return O;

//1E (!
((pl[17]!="g'&s&pl[18]!="g") || (p[17]!="g'&s&pl[18]!="a") || (p[17]!="g'&s&p[18]!=
'c'))return O;

//1E (!
((pl18]!="g'&&p[19]!="g") || (p[18]!="g'&&p[19]!="a") || (p[18]!="g"'&&p[19]!=
'c'))return O;

//if(p[l-4]!="c'&&p[l-4]!="t")return 0;

//put j=0 if you want to take 9 absent position, otherwise put j=1;

for (3=1;3<2;++73)
{

for (k=0; k<5; ++k)
{

m=0; flag=0;n=14;arm for a=arm a;
for (1=8+7,;1i<8+j+4; ++1)
{

c= check bond(p[i+n+k-m],p[i]);

if (c==0) {flag=0;break;};
// printf ("c=%d\n",c) ;getch () ;
flag=1;
if( c==2)

{
arm_ for a--;if(arm for a<0) {flag=0;break;}

}

m++;n-—-;
}
if (flag==1) {//printf ("OK k=%d\n", k) ;getch () ;

i1f (k<3)
for (1=0;1i<=k; ++1)
{
1if((p[l5+j+i]=="g'&&p[15+j+i+1]=="g"))

//1if (p[k+11+8+j+14-3]=="t')return
k+11+8+3+14+1;//32 position is 't' only



1if(plk+11+48+3+14-3]=="c"' | [p[k+11+8+]j+14-
3]=="t"')return k+11+8+j+14+1+1;

//remove // if 18 &19 position are 'ga' or 'gc'

//
if(p[l15+j+i]l=="g'&&p[1l5+j+i+1l]=="a')if (p[k+11+8+j+14-
3]=="c"| |p[k+11+8+J+14-3]=="t") return k+11+8+j+14+1+1;

//
if ((p[l5+j+i]=="g'&&p[15+]+i+1l]=="c"))if (p[k+11+8+j+14-
3]=="c"| |p[k+11+8+J+14-3]=="t") return k+11+8+j+14+1+1;

}

else
for (i=k-2;1<3;++1)

1if((p[l5+j+i]l=="g'&&p[15+j+i+1]=="g"))
// if(p[k+11+8+3+14-3]=='t"')return
k+11+8+j+14+1;//32 position is 't' only
if(plk+11+8+3+14-3]=="c"'||plk+11+8+j+14-
3]=="t'")return k+11+8+3+14+1+1;

//remove // if 18 &l19 position are 'ga' or 'gc'

//if (p[15+3+1i]=="g'as&p[15+j+i+1l]=="a')if (p[k+11+8+j+14-
3]=="c'| |p[k+11+8+7+14-3]=="t")return k+11+8+j+14+1+1;

//if ((p[15+7+i]=="g'&&p[15+]+i+l]=="c"))if (p[k+11+8+j+14~
3]=="c'||p[k+11+8+j+14-3]=="t")return k+11+8+j+14+1+1;

}

}

flag=0;

H}
if (flag==0)return O;

//return 1;

}

int check 2nd(char *p)
{

int i,Jj,arm for t=arm t,c;

"Yreturn 0;

g
'='a'&&p (18] !="t") return O;
c
c')return O;



J=23;
for( i=7,;1i<12;++1)

{

c=check bond(p[j],p[i]);
if( c==0){return 0;};//T -arm

arm for t--;if (arm for t<0) {return 0;}

return 1;

int build trna cg(char *p,int 11,char mat[32][80],char *anticodon,
*bp,char *a arm,char *d arm,char *ac_ arm,char *t arm)

{

int
i=0,3j,%kx,m,n,u,v,w,x,1=0,flag=0,ml,ul,nl,wl,x1,11,1i2,m2,u2,n2,w2,x2;
int
arm_for a=arm a,arm for d=arm d,arm for ac=arm ac,arm for t=arm t;
u=0;3=0;

//printf ("$s\n",p); getch();

while (1<7)

{
v=14;//printf ("OK\n") ;printf ("%c %c\n",pl[i]l,pl[l-i-11);
if ( check bond(p[i],p[1l1-1i-1])==0)return 0; // A - arm

mat[u] [v++]=a arm[j++]=p[i];

if (check bond(p[i],p[ll-1i-1])==1)
mat[u] [v++]="-";
else

{
mat [u] [v++]="+";
arm_ for a--;if (arm for a<0)return O;

}
mat [u++] [v]=a arm[j++]=p[ll-i-1];
i++;

1!'="t")return 0;
plil;bp(8]=pl[i+l];

char



mat[u++] [13]=p[i];
mat [u++] [12]=p[i+1];

n=nl=n2=11-i-1;

x=x1=x2=1+5;
ul=uz2=u;
m2=1;

j=0;
1=11=18;

/*1=n-16;

printf ("p[%
printf ("p[%
printf ("p[%
printf ("p[%

\n",i+4,p[1+4]);
\n",i+5,p[1+5])
\n",i+7,p[1+7])

2

\n",i+12,p[i+1

1)

printf ("p[%d]=%c\n",m+8,p[m+8]); getch();*/
while (11>15)

i=il;u=ul=u2;w=wl=w2;m=ml=m2;n=nl=n2;x=x1=x2;1=0;v=11;
arm_for d=arm d,arm for ac=arm ac,arm for t=arm t;

if((pli+l]=='c")&&pl[il=="qg"')//17="g' does not exist
{

//printf ("i=%d\n", 1) ;getch () ;
for (12=u;12<32;12++)

for (3=0;3<80;++7)

mat[i2] [J]=" "';

//bp[17]=pl[i]l;bp[18]=p[i+1];
//1if (J==3)return 0;

m=ml=1i;
i+=7;//rintf ("%$d\n", 1) ;

3=0;k=m2+2; //v=11;ul=u;

//printf ("Ok %d \n",1); getch();
while (3<4)

{

//printf ("OK\n") ;printf ("%c $c\n",pl[i],plk]);

if ( check bond(pl[k],p[i])==0) {flag=1l;break;} // D - arm with
20

mat [ut++] [v]=d arm[l++]=p[k];



if (check bond(p[i],plk])==1)
mat[ut++] [v]="]";
else {
mat [u++] [v]="+";
arm for d--;
if (arm for d<0) {flag=1l;break;}
}
mat [u+t+] [v]=d arm[l++]=p[i];v-—-;u-=3;

i-=; k++; J++;

if (flag!=1)
{
bp[20]=p[i];

3=0; k=x++;//printf ("%d %d\n", i, k);getch();
bp[13]=p[x];bp[l4]=p[x+1];bp[17]=p[il];bp[18]=p[il+1];
while (j<(i-k=-2)/2)
{
mat [w+2] [v]=p[x++];v-—;J++;//printf ("OK\n") ;
}
mat [w+3] [v]=p[x++];
mat [wtd] [v]=p[xt++];
mat [w+5] [v]=p[x++];

while (x<=1)

mat [w+6] [++v]=p[x++];

i=n-16;//printf ("i=%d\n", i) ;getch();

j=0;

k=n;

if(pl[i+4]1'!'="g'") {flag=1;}
if(pl[i+5]!="t'&&p[i+5]!="a'") {flag=1l;}
if(pl[i+7]1!'="c") {flag=1;}
if(pli+l2]!'="c") {flag=1;}

//printf ("p[%d]l=%c\n",i+4,p[i+4]);

// printf ("p[%d]=%c\n",i+5,p[i+5])
// printf ("p[%d]l=%c\n",i+7,p[i+7])
// printf ("p[%d]=%c\n",i+12,p[i+12
//getch () ;

]

) ;

if (flag!=1)
{
mat[w] [22]=p[k-5];mat[w] [23]=p[k-6];v=17;w++;1=0;



}
{

while (§<5)

{
if ( check bond(p[k],pl[i])==0) {flag=1;break;};//T -arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond(p[il,p[k])==1)
mat [w++] [v]="]";
else
{
mat [w++] [v]="+";
arm_ for t--;if (arm for t<0) {flag=1l;break;}
}
mat [wt+] [v]=t arm[l++]=p[i];v++;w—=3;

JHtik=—;i++;
}

f(flag!=1)
mat [w+3] [v++]=bp[53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];
mat [w+l] [v]=p[i++];
mat [w] [v]=bp[57]=p[it++];

u=w+6;v=12;

m=x+4;mat[--u] [v++]=bp[25]=p[m+1];u++;
i=m+2;
w=u; 1=0;

j=0;k=1+16;x=k+1;//printf ("%d %d\n",i,k);
while (7<5)
{

//printf ("OK\n") ;
//printf ("$c %c\n",plil,plk]);

if ( check bond(p[k],p[i])==0) {flag=1l;break;}//AC -arm
mat [u] [v++]=ac _arm[l++]=p[i];

if (check bond(p[i],plk])==1)
mat[u] [v++]="-";
else
{

mat[u] [vt+]="+";

arm for ac--;if(arm for ac<0) {flag=1;break;}

}
mat [ut+] [v]=ac arm[l++]=p[k];v-=2;



JH+;k=—;i++;

mat[u++] [v-1]=bp[31]=p[i++];
//printf ("m=%d\n",m) ;getch () ;

if(p[m+8]!="t'&g&p[m+8]!="c') {flag=1l;}
//printf ("p[%d]l=%c\n",m+8,p[m+8]); getch();

f(flag!=1)

{
bp[32]=p[m+8];

mat [u++] [v-1]=p[i++];3=0;

mat[u] [v++]=anticodon[j++]=p[i++];

mat[u] [v++]=anticodon[j++]=p[i++];

mat [u] [v+t+]=anticodon[j++] p[1++] anticodon[j]="'\0";

while (i<=k)
mat[--u] [Vv]=p[i++];

bp[37]=p[k];

v=16;
k=n-17;
j=0;
i=x;

bp[43]=pli];bp[47]1=plk];

u=ceil ((k-x+1)/2.0)-2;//printf ("%d %d % d\n",k,x, u);
£ (u>0) {

while (j<=u) {mat [w++] [V++]=p [1i++];J++;}

w-—=;
j=0;

while (§<=u/2+1)

{

mat[--w] [v]=p[i++];J++;

}

v--;

if (j<=u)

{

while (j<=u)

{

mat [--w] [v]=p[i++];
J++;

}
v--;

}

else v+=1;
while (i<=k)
mat [--w] [v-=]=p[i++];

}

else

{if (u<0) flag=1;



mat [w] [v++]=p[i++];
mat [w] [v++]=p[i++];

while (i<=k)

mat[—--w] [v-—]=p[i++];
}

//printf ("17 a\n");

if (flag!=1)
if (check3dbp (bp,arm a-arm for a,arm d-arm for d,arm ac-arm for ac,arm t-

arm for t)) return 1;
else return 0;

}

if (flag==1)
{

arm for d=arm d,arm for ac=arm ac,arm for t=arm t;
u=ul;w=wl;m=ml;n=nl;x=x1;1=0;

for (i=u; i<32;i++)
for (3=0;3<80;++7)
matf[i] [J]1=" ';

i=m+8;v=11;
J=0; k=m2+2;1=0;
while (7<4)

//printf ("OK\n") ;printf ("%c %c\n",pl[i],plk]);
if ( check bond(p[k],p[i])==0){flag=2;break;} // D - arm with

20A

mat [ut++] [v]=d arm[l++]=p[k];

if (check bond(p[i],plk])==1)
mat[u++] [v]="]|";
else {

mat[u++] [v]="+";

arm for d--;

if (arm for d<O0) {flag=2;break;}
}
mat [u++] [v]=d arm[l++]=p[i];v--;u-=3;



i-=; k++; J++;

if (flag!=2)

{

bp[20]=p[i];

3=0; k=x++; //printf ("%d %d\n", i, k);getch();

bp[13]=p[x];bp[l4]=p[x+1];//bp[17]=bp[l8]="'qg";

bp[17]=pl[il];bp[18]=p[il+1];
while (j<(i-k-2)/2)
{
mat [w+2] [v]=p[x++];v-=;J++;//printf ("OK\n") ;
}

mat [w+3] [v]=p[x++];
mat [w+4] [v]=p[x++];
mat [w+5] [v]=p[x++];

while (x<=1)

mat [w+6] [++v]=p [x++];

i=n-16;
j=0;
k=n;
if(pli+4]!="g'") {flag=2;}
if(pli+5]!="t'&&p[i+5]!="a'") {flag=2;}
if(pli+7]!'="c") {flag=2;}
if(pli+12]!="c") {flag=2;}

if (flag!=2)
{
mat[w] [22]=p[k-5];mat[w] [23]=p[k-6];v=17;w++;1=0;

while (3<5)
{
if ( check bond(pl[k],pl[i])==0) {flag=2;break;};//T -arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond(p[i],plk])==1)
mat [w++] [v]="|";
else

{

mat [w++] [v]="+";

arm_for t--;if (arm for t<0) {flag=2;break;}
}
mat [w++] [v]=t arm[l++]=p[i];v++;w-=3;



JHti k== i++;
}
}

if (flag!=2)
{
mat [wt+3] [v++]=bp[53]=p[i++];mat[w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];
mat [w+l] [v]=p[i++];
mat [w] [v]=bp[57]=p[i++];

u=w+6;v=12;
//printf ("%d %c flag=%d\n",m+8,p[m+8],flag);getch();
X==;

m=x+4;mat [--u] [v++]=bp[25]=p [m+1];u++;
i=m+2;
w=u; 1=0;

j=0;k=i+16;x=k+1;//printf ("%d %d\n",i, k);
while (§<5)
{

//printf ("OK\n") ;
//printf ("$c Sc\n",plil,plk]);

if ( check bond(p[k],p[i])==0) {flag=2;break;}//AC -arm
mat [u] [v++]=ac _arm[l++]=p[i];

if (check bond(p[il,p[k])==1)
mat [u] [v++]="-";
else

{
mat[u] [vt+]="+";
arm_ for ac--;if(arm for ac<0) {flag=2;break;}

}
mat [ut+] [v]=ac _arm[l++]=p[k];v-=2;

JH+;k——;1i++;

mat [u++] [v-1]1=bp[31]l=p[i++];

//printf ("%d %$c flag=%d\n",m+8,p[m+8], flag);getch();
//if (p[m+8]!="t"') {flag=2;}
if(p[m+8]!'="t'&a&p[m+8]!="c') {flag=2;}

//printf ("%d %c flag=%d\n",m+8,p[m+8],flag);getch();
}

if(flag!=2)
{



bp[32]=p[m+8];
mat [u++] [v-1]=p[i++];7=0;

mat [u] [vt+]=anticodon[j++]=p[i++];
mat [u] [vt+]=anticodon[j++]=p[i++];
mat [u] [v++]=anticodon[j++]=p[i++];anticodon[j]="\0";

while (i<=k)
mat[--u] [v]=p[i++];

pl37]=plk];
v=16;
k=n-17;
j=0;
i=x;

bp[43]=pli];bp[47
u=ceil ((k-x+1)
if (u>0) {

while (j<=u) {mat [wt++] [v++]=p [i++];J++;}

[47]=p[k];
/2.0)=-2;//printf ("%d %d % d\n",k,x, u);

w--;
j=0;
while (j<=u/2+1)
{
mat [--w] [Vv]=p[i++];J++;
}
v--;
if (j<=u)
{
while (j<=u)
{
mat [--w] [v]=p[i++];
J++;
}
v--;
}
else v+=1;
while (i<=k)
mat [--w] [v-=]=p[i++];

}

else

{if (u<0) flag=2;
mat [w] [v++]=p[i++];
mat [w] [vt+]=p[i++];

while (i<=k)
mat [--w] [v-=]=p[i++];
}

//printf ("17 \n")

if (flag!=2)

if (check3dbp (bp,arm a-arm for a,arm d-arm for d,arm ac-arm for ac,arm t-
arm for t)) return i: B B B B B B B - B
else return 0;

//return 1;



if(flag==2)
{

u=ul;w=wl;m=ml;n=nl;x=x1;1=0;flag=0;

for (i=u;i<32;i++)

for (3j=0;3<80;++7)
mat[i] [J]=" ";
i=m+9;v=11; arm for d=arm d,arm for ac=arm ac,arm for t=arm t;
J=0; k=m2+2;1=0;
/*1f( check bond(plk],p[i])==0)return 0; // D - arm having
20A & 20B

mat [ut++] [v]=d arm[1l++]=p[k];

if (check bond(p[il,p[k])==1)
mat [u++] [v]="|";
else

{

mat[u++] [v]="+";

arm for d--;

if (arm for d<0)return O;
}

mat [u++] [v]=d arm[l++]=p[i];v-—-;u-=3;

i-=;kt++;3++;
}

3=0; k=x++;//printf ("%d $d\n",i,k);getch();



bp[13]=p[x];bp[l4]=p[x+1];bp[17]=bp[18]="g";

while (j<(i-k-2)/2)
{

mat [w+2] [v]=p[x++];v-—;J++;//printf ("OK\n") ;
}

mat [w+3] [v]=p[x++];
mat [wtd] [v]=p[x++];
mat [w+5] [V]=p[x++];

while (x<=1)

mat [w+6] [++v]=p[x++];

i=n-16;
j=0;
k=n;
if(pli+4]!="g')return 0;
if(pli+5]!="t'&&p[i+5]!="a') return 0;
if(pli+7]!="c'")return 0;
if(pl[i+l2]!'="c")return O;

mat[w] [22]=p[k-5];mat[w] [23]=p[k-6];v=17;w++;1=0;

while (§<5)
{
if ( check bond(p[k],p[i])==0)return 0;//T -arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond(p[i],plk])==1)
mat [w++] [v]="]|";
else
{
mat [w++] [v]="+";
arm for t--;if (arm for t<0)return 0;
}

mat [w++] [v]=t arm[l++]=p[i];v++;w—=3;

JH+;k——;1i++;

mat [w+3] [v++]=bp[53]=p[i++];mat[w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];

mat [w+l] [v]=p[i++];

mat [w] [v]=bp[57]=p[i++];

u=w+6;v=12;



m=x+4;mat [--u] [v++]=bp[25]=p[m+1];u++;
i=m+2;
w=u; 1=0;

j=0;k=i+16;x=k+1;//printf ("%d %d\n",i, k);
while (3<5)
{

//printf("OK\n");
//prlrltf "% oC\n"Ip[i]rp[k]);

if ( check bond(p[k],p[i])==0)return 0;//AC -arm
mat [u] [v++]=ac _arm[1l++]=p[i];

if (check bond(p[i],plk])==1)
mat[u] [v++]="-";
else
{

mat[u] [vt+]="+";

arm_for ac--;if(arm for ac<0)return 0;

}
mat [ut+] [v]=ac arm[l++]=p[k];v-=2;

JH+;k——;1i++;

mat [ut+] [V_l]sz[3l]=p[l++] .

f(p[m+8]!="t'")return 0;

mat
mat
mat
mat

+] [v-1]=pli++];j=0;

[vt+]=anticodon[j++]=p[i++];
[v++]=anticodon[j++]=p[i++];
[

u
u
u [

u] [v++]=anticodon[j++]=p[i++];anticodon[j]="\0";

— — — —

_I_
]
]
]

while (i<=k)
mat[--u] [Vv]=p[i++];

bp[37]=p[k];

v=16;

k=n-17;
3=0;
i=x;
bp[43]=p[i]; bp[47] =pl[k];
u=ceil ((k-x+1)/2.0)-2;//printf ("%d %4 % d\n",k,x, u);

£ (u>0) {
while (j<=u) {mat [wt++] [v++]=p [i++];++;}
w-—;

j=0;



while (j<=u/2+1)
{

mat[--w] [v]=p[i++];J++;
}
v--;
if (j<=u)
{
while (j<=u)
{

mat [--w] [v]=p[i++];

J++;

}
v-=;
}
else v+=1;
while (i<=k)
mat [--w] [v-—-]=p[i++];

}

else

{
mat [w] [vt+]=p[i++];
mat[w] [v++]=p[i++];

while (i<=k)
mat[--w] [v-—-]=p[i++];
}

return 1;*/

while (§<4)
{

if ( check bond(p(k],p[i])==0) {flag=2;break;} // D - arm with 20A&20B
mat [u++] [v]=d arm[1l++]=p[k];

if (check bond(p[i],plk])==1)
mat[ut+] [v]="|";
else {

mat [ut++] [v]="+";

arm for d--;

if (arm for d<0){flag=2;break;}
}

mat [u++] [v]=d arm[l++]=p[i];v-—-;u-=3;

i-=;kt+;3++;

if (flag!=2)



bp[20]=p[i];

3=0; k=x++; //printf ("%d %d\n", i, k);getch();
bp[13]=p[x];bp[l4]=p[x+1];//bp[l7]=bp[l8]='g
bp[17]=pl[il];bp[18]=p[il+1];

while (3j<(i-k-2)/2)
{
mat [w+2] [v]=p[x++];v-—;J++;//printf ("OK\n") ;
}
mat [w+3] [v]=p[x++];
mat [wtd] [v]=p[x++];
mat [w+5] [v]=p[x++];

while (x<=1)

mat [w+6] [++v]=p [x++];

i=n-16;
j=0;
k=n;
f(pli+td]!="qg") {flag=2;}
f(p[i+5]!'="t'&&p[i+5]!="a") {flag=2;}
f(p [1+7]':'c ){flag 2;1}
f(pli+l2]!='c") {flag=2;}
if (flag!=2)

{
mat[w] [22]=p[k-5];mat[w] [23]=p[k-6];v=17;w++;1=0;

while (§<5)

{
if ( check bond(plk],p[i])== ) {flag=2;break;};//T -arm

mat [wt++] [v]=t arm[l++]=p[k];

if (check bond(p[i],plk])==1)
mat [w++] [v]="]|";
else
{
mat [w++] [v]="+";
arm_ for t--;if(arm for t<0){flag=2;break;}
}
mat [w++] [v]=t arm[l++]=p[i];v++;w-=3;

JH+;k——;1i++;

if (flag!=2)
{
mat [w+3] [v++]=bp[53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];
mat [w+l] [v]=p[i++];
mat[w] [v]=bp[57]=p[i++];



u=w+6;v=12;

m=x+4;mat [--u] [v++]
i=m+2;
w=u; 1=0;

~bp [25]=p [m+1]

J=0;k=1+16;x=k+1;//printf ("%
while (3<5)
{

//printf ("OK\n") ;
//printf ("%d

%c %c\n",1i,k,pl[i]

syut+;

sd\n",1i,k);

+P[k])igetch();

) {flag=2;break;}//AC -arm

%d
if ( check bond(plk],p[i])==
mat [u] [v++]=ac arm[l++]=p[i];

if (check bond(p[il,p[k])==1)

mat[u] [v++]="-";
else

{

mat[u] [vt+]="+";

arm for ac--;if(arm for ac<0) {flag=2;break;}

}

mat [u++] [v]=ac arm[l++]

JHtsk——;i++;
//printf ("% %c

}

mat [u++] [v-1]
//printf ("%d

=bp[31]=p[it++];
%c

=p [k]

flag=%d\n",m+8,

flag=%d\n",m+8,

Jv-=2;

plm+8]1, flag) ;getch () ;

plm+8]1, flag) ;getch () ;

2;}

p[m+8],flag) ;getch();

//if(p[m+8]!'="t") {flag=2;}
if(p[m+8]!="t'&&p[m+8]!="c") {flag=
//printf ("%d %c flag=%d\n",m+8,
if (flag!=2)

{

bp[32]=p[m+8];

mat [u++] [v=-1]=p[i++];3=0;

mat[u] [v++]=anticodon[j++]=p[i++];
mat [u] [v++]=anticodon [j++]=p[i++];
mat [u] [vt+]=anticodon[j++]=p[i++]

while (i<=k)

;anticodon|

jI="\0";



mat [--u] [v]=p[i++];

bp[37]=p[k];

v=16;
k=n-17;
j=0;
i=x;

bp[43]1=p[il;bp[47]1=p[k];

u=ceil ((k-x+1)/2.0)-2;//printf ("%d %d % d\n",k,x, u);
if (u>0) {

while (j<=u) {mat [wt++] [v++]=p [i++];J++;}

w-—;
j=0;
while (j<=u/2+1)
{
mat [--w] [v]=p[i++];J++;

v-—=;

if (j<=u)

{

while (j<=u)

{
mat[--w] [v]=p[it++];
J++;

}

v-=;

}

else v+=1;

while (i<=k)

mat [--w] [v-=]=p[i++];

}

else

{if (u<0) flag=2;
mat [w] [v++]=p[i++];
mat [w] [vt+]=p[i++];

while (i<=k)
mat[--w] [v—-—=]=p[i++];

}

//printf ("17a exists\n");
if (flag!=2)
if (check3dbp (bp,arm a-arm for a,arm d-arm for d,arm ac-
arm for ac,arm t-arm for t))return 1;
else return 0;
//return 1;
}
}
}

il--;



return 0;

}

int build trna gg(char *p,int 11,char mat[32][80],char *anticodon,
*bp, char *a arm,char *d arm,char *ac_ arm,char *t arm)

{

int
i=0,3j,%kx,m,n,u,v,w,x,1=0,flag=0,ml,ul,nl,wl,x1,11,1i2,m2,u2,n2,w2,x2;
int
arm_for a=arm a,arm for d=arm d,arm for ac=arm ac,arm for t=arm t;
u=0;3=0;

//printf ("$s\n",p); getch();

while (1<7)

{
v=14;//printf ("OK\n") ;printf ("%c %c\n",pl[i]l,pl[l-i-11);
if ( check bond(p[i],p[1l1-1i-1])==0)return 0; // A - arm

mat[u] [v++]=a arm[j++]=p[i];

if (check bond(p[i],p[1l1-1i-1]1)==1)
mat [u] [v++]="-";
else

{
mat[u] [vt+]="+";
arm for a--;if (arm for a<0)return 0;
}
mat [u++] [v]=a arm[j++]=p[ll-i-1];
i++;

}

w=wl=w2=u-1;

if(pli]!="t'")return 0;
bp[7]=p[i];bp[8]=p[i+l];
mat [u++] [13]=p[il];
mat[u++] [12]=p[i+1];

n=nl=n2=11-i-1;

x=x1=x2=1+5;
ul=u2=u;
m2=i;

3=0;

char



i=11=18;
while (11>15)

i=il;u=ul=u2;w=wl=w2;m=ml=m2;n=nl=n2;x=x1=x2;1=0;v=11;
arm for d=arm d,arm for ac=arm ac,arm for t=arm t;

if ((pli+l]l=="g')&&pl[il=='qg')//17="g"' does not exist
{

//printf ("i=%d\n", 1) ;getch () ;
for (12=u;12<32;1i2++)

for (3=0;73<80;++7)

mat[i2] [J]=" ';

//bp[17]=p[i];bp[18]=p[i+1];

//if (j==3)return 0;
m=ml=1i;
i+4=7;//rintf ("%d\n", 1) ;

j=0;k=m2+2;//v=11;ul=u;

//printf ("Ok %d \n",i); getch();
while (§<4)

{

//printf ("OK\n") ;printf ("%c %c\n",pl[i],plk]);

if ( check bond(p[k],p[i])==0) {flag=1l;break;} // D - arm with
20

mat [u++] [v]=d arm[1l++]=p[k];

if (check bond(p[i],plk])==1)
mat[ut+] [v]="|";
else {

mat [ut++] [v]="+";

arm for d--;

if (arm for d<0) {flag=1l;break;}
}

mat [u++] [v]=d arm[l++]=p[i];v-—-;u-=3;

i-=;kt+;3++;

if (flag!=1)
{
bp[20]=p[i];

3=0; k=x++; //printf ("%d %d\n",i,k);getch();



{

bp[13]=p[x]

;bp[l4]=p[x+1];bp[17]=p[il];bp[18]=p[il+1];

while (3j<(i-k=2)/2)

{

mat [w+2] [v]=p[x++];v-—;J++;//printf ("OK\n") ;

}

mat [w+3] [v]=
mat [w+4] [v]=
mat [w+5] [v]=

while (x<=1)

plx++];
plx++];
plx++];

mat [w+6] [++v]=p[x++];

i=n-16;//pri
j=0;
k=n;

f(plit+4]
f(pl[i+5]
f(plit+7]
f(plit+tl2

f(flag!=1)

mat[w] [22]

while (§<5

{
if(

ntf ("i=%d\n", i) ;getch();

'g') {flag=1;}
't'&&p[it+5]!="a') {flag=1;}
'c! ){flag 1;1}

='c') {flag=1;}

I
1=
I
1!

=pl[k-5];mat[w] [23]=p[k-6];v=17;wt+;1=0;

)

check bond(p[k],p[1])==0) {flag=1;break;};//T -arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond( [i]1,p[k])==1)
mat [w++] [v]="]"
else

{

}

mat [w++] [v]="+";
arm for t--;if (arm for t<0){flag=1l;break;}

mat [w++] [v]=t arm[l++]=p[i];v++;w-=3;

J++;k==;1i++;
}
}
if (flag!=1)
{
mat [w+3] [v++]=bp[53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];
mat [w+1l] [v]=p[i++];
mat[w] [v]=bp[57]=p[i++];



u=w+6;v=12;

m=x+4;mat[--u] [v+t+]=bp[25]=p[m+1];ut+;
i=m+2;
w=u; 1=0;

j=0;k=1+16;x=k+1;//printf ("%d %d\n",1i,k);
while (3<5)
{

//printf ("OK\n") ;
//printf ("%$c %c\n",pl[i]l,plk]);

if ( check bond(p[k],p[i])==0) {flag=1;break;}//AC -arm
mat [u] [v++]=ac arm[l++]=p[i];

if (check bond(p[i],plk])==1)
mat[u] [v+t+]="-";
else
{

mat[u] [vt+]="+";

arm_ for ac--;if(arm for ac<0) {flag=1;break;}

}
mat [ut+] [v]=ac arm[l++]=p[k];v-=2;

JHtsk——;1i++;

mat [u++] [v-1] bp[31] =pl[i++];
//printf ("m=%d\n",m) ;getch () ;

if(p[m+8]!="t"'ssp[m+8]!="c"') {flag=1;}
//printf ("p[%d]=%c\n",m+8,p[m+8]); getch();
}
f(flag!=1)

p[32]=p[m+8];

mat [u++] [v-1]=p[i++];3=0;

mat [u] [v++ ] =anticodon[j++]=p[i++];

mat[u][v +]=anticodon[j++]=p[i++];

mat[u] [v+t+]=anticodon[j++]=p[i++];anticodon[j]="\0";

while (i<=k)
mat[--u] [v]=p[i++];

bp[37]=p[k];



v=16;
k=n-17;
j=0;
i=x;
bp[43]=p[i];bp
u=ceil ((k-x+1)
if (u>0) {
while (j<=u) {mat [w++] [v++]=p[i++];++;}

(47]=plk];
/2.0)-2;//printf("%d %d % d\n",k,x, u);

wW==;
J=0;
while (j<=u/2+1)
{
mat[--w] [v]=p[i++];J++;
}
v--;
if (j<=u)
{
while (j<=u)
{
mat [--w] [Vv]=p[i++];
J++;
}
v--;
}
else v+=1;
while (i<=k)
mat[--w] [v—=]=p[i++];

}

else

{if (u<0) flag=1;
mat [w] [vt+]=p[i++];
mat [w] [v++]=p[i++];

while (i<=k)

mat [--w] [v-=]=p[i++];
}

//printf ("17 a\n");

if (flag!=1)
if (check3dbp (bp,arm a-arm for a,arm d-arm for d,arm ac-arm for ac,arm t-
arm for t)) return 1;

else return 0;

}

if (flag==1)



arm_ for d=arm d,arm for ac=arm ac,arm for t=arm t;
u=ul;w=wl;m=ml;n=nl;x=x1;1=0;

for (i=u;i<32;i++)
for (3=0;3<80;++7)
mat[i] [J]1=" ";

i=m+8;v=11;
3=0; k=m2+2;1=0;
while (7<4)

//printf ("OK\n") ;printf ("%c %$c\n",pl[i],plk]):;

if ( check bond(p[k],pl[i])==0) {flag=2;break;} // D - arm with
20A
mat [u++] [v]=d arm[1l++]=p[k];
if (check bond(p[i],plk])==1)
mat [u++] [v]="]";
else {
mat[u++] [v]="+";
arm for d--;
if (arm for d<0) {flag=2;break;}
}
mat [ut+] [v]=d arm[l++]=p[i];v--;u-=3;
i-—;kt++;3++;
}
if (flag!=2)

{
bp[20]=p[i];
j=0; k=x++; //printf ("%d %d\n", i, k) ;getch();

bp[13]=p[x];bp[l4]=p(x+1];//bp[17]=bp[18]="g";

bp[17]=p[il];bp[18]=p[il+1];
while (j<(i-k-2)/2)
{
mat [w+2] [v]=p[x++];v-=;J++;//printf ("OK\n") ;
}
mat [w+3] [v]=p[x++];
mat [w+d] [v]=p[x++];
mat [w+5] [v]=p [x++];

while (x<=1)

mat [w+6] [++v]=p[x++];



i=n-16;

j=0;
k=n;
f(plit+t4]l!'="g'") {flag=2;}
f(p [1+5]'='t &&pl[it+b]!="a') {flag=2;}
f(pli+t7]1!="c ){flag 2;1}
f(pli+tl2]!="c") {flag=2;}
if (flag!=2)
{
mat[w] [22]=p[k-5];mat [w] [23]=p[k-6];v=17;w++;1=0;
while (7<5)
{
if ( check bond(p[k],pl[i])==0){flag=2;break;};//T -arm
mat [w++] [v]=t arm[l++]=p[k];
if (check bond(p[i],plk])==1)
mat [w++] [v]="|";
else
{
mat [w++] [v]="+";
arm_ for t--;if(arm for t<0){flag=2;break;}
}
mat [w++] [v]=t arm[l++]=p[i];v++;w—=3;
J++ k== 1++;
}
}
if (flag!=2)
{
mat [w+3] [v++]=bp[53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];
mat [w+l] [v]=p[i++];
mat [w] [v]=bp[57]=p[i++];

u=w+6;v=12;

//printf ("$d %c flag=%d\n",m+8,p[m+8],flag);getch();
X==7

m=x+4;mat [--u] [v++]=bp[25]=p [m+1];u++;

i=m+2;

w=u; 1=0;

3=0;k=1+16;x=k+1;//printf ("%d %d\n",i,k);

while (3<5)

{

//printf ("OK\n") ;



//p]fll’ltf "% oC\l’l",p[i],p[k]);
if ( check bond(p[k],p[i])==0) {flag=2;break;}//AC -arm
mat [u] [v++]=ac _arm[l++]=p[i];

if (check bond(p[i],plk])==1)
mat[u] [v++]="-";
else
{

mat[u] [v++]="+";

arm for ac--;if(arm for ac<0) {flag=2;break;}

}
mat [ut++] [v]=ac arm[l++]=p[k];v-=2;

JH+;k——;1i++;

mat[u++] [v-1]=bp[31]=p[i++];

//printf ("%d %$c flag=%d\n",m+8,p[m+8], flag) ;getch();
//if(p[m+8]!'="t") {flag=2;}
if(p[m+8]!="t"ssp[m+8]!="c') {flag=2;}

//printf ("%$d %c flag=%d\n",m+8,p[m+8],flag);getch();
}

if(flag!=2)

{

bp[32]=p[m+8];

mat [u++] [v-1]=p[i++];]=0;

mat [u] [v++]=anticodon[j++]=p[i++];

mat[u] [v++]=anticodon[j++] p[1++]

mat [u] [v++]=anticodon[j++]=p[i++];anticodon[j]="\0";

while (i<=k)
mat[--u] [v]=p[i++];

bp [37]=p[k];

v=16;
k=n-17;
j=0;
i=x;
bp[43]=pl[i]; bp[47] =pl[kl];
u=ceil ((k-x+1)/2.0)-2;//printf ("%d %d % d\n",k,x, u);
£ (u>0) {
while (j<=u) {mat [wt++] [v++]=p [i++];J++;}
w-—;
3=0;
while (j<=u/2+1)
{
mat [--w] [v]=p[i++];J++;
}



v-=;

if (j<=u)

{

while (j<=u)

{
mat[--w] [v]=p[it++];
J++i

}

v==;

}

else vt+=1;

while (i<=k)

mat [--w] [v-=]=p[i++];

}

else

{if (u<0) flag=2;
mat [w] [v++]=p[i++];
mat[w] [v++]=p[i++];

while (i<=k)
mat[--w] [v——-]=p[i++];

}

//printf ("17 \n");

if (flag!=2)

if (check3dbp (bp,arm a-arm for a,arm d-arm for d,arm ac-arm for ac,arm t-
arm_for t)) return 1;

else return 0;

//return 1;
}

}

}

if (flag==2)
{

u=ul;w=wl;m=ml;n=nl;x=x1;1=0;flag=0;

for (i=u;i1<32;1i++)



i=m+9;v=11; arm for d=arm d,arm for ac=arm ac,arm for t=arm t;

3=0; k=m2+2;1=0;

/*1f( check bond(plk],p[i])==0)return 0; // D - arm
20A & 20B

mat [u++] [v]=d arm[1l++]=p[k];

if (check bond(p[i],plk])==1)
mat [ut+] [v]="]";
else

{
mat[u++] [v]="+";
arm for d--;
if (arm for d<0)return O;

}
mat [u++] [v]=d arm[l++]=p[i];v--;u-=3;

i-—;kt++;3++;
1

3=0; k=x++;//printf ("%d %$d\n",i, k) ;getch();

bp[13]=p[x];bp[l4]=p[x+1];bp[17]=bp[18]="g";

while (j<(i-k-2)/2)
{
mat [w+2] [v]=p[x++];v-=;J++;//printf ("OK\n") ;
}
mat [w+3] [v]=p[x++];
mat [wtd] [v]=p[xt++];
mat [w+5] [v]=p[x++];

while (x<=1)

mat [w+6] [++v]=p [x++];

i=n-16;
j=0;
k=n;

! g')return O;
I='t'&&p[it5]!'="a') return 0O;
c')return O;

'c')return 0;

having



mat[w] [22]=p[k-5];mat [w] [23]=p[k-6];v=17;w++;1=0;
while (3<5)

{
if ( check bond(p[k],p[i])==0)return 0;//T -arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond(p[i],plk])==1)
mat [w++] [v]="]|";
else

{

mat [w++] [v]="+";

arm for t--;if (arm for t<0)return 0;
}
mat [w++] [v]=t arm[l++]=p[i];v++;w—=3;

JHtsk——;i++;
}

mat [w+3] [v++]=bp[53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];

mat [w+l] [v]=p[i++];

mat [w] [v]=bp[57]=p[i++];

u=w+6;v=12;

m=x+4;mat[--u] [v++]=bp[25]=p[m+1];u++;
i=m+2;
w=u; 1=0;

j=0;k=1+16;x=k+1;//printf ("%d %d\n",i,k);
while (7<5)
{

//printf("OK\n");
//printf ("$c %c\n",pl[i],p[k]);

if ( check bond(p[k],p[i])==0)return 0;//AC -arm
mat [u] [v++]=ac _arm[l++]=p[i];

if (check bond(p[i],pl[k])==1)
mat[u] [v++]="-";
else

{
mat[u] [vt+]="+";
arm_ for ac--;if(arm for ac<0)return 0;

}
mat [u++] [v]=ac_arm[l++]=p[k];v-=2;



JH+; k== i++;

mat [u++] [v-1]=bp[31l]=p[i++];

f(p[m+t8]!="t'")return 0;

ut+] [v=-11=p[i++];]7=0;

u] [v++]=anticodon[j++]=p[i++];
u] [v+t+]l=anticodon[j++]=p[i++];
u] [v++]=anticodon[]j++] p[1++] anticodon[j]="\0";

mat [
mat [
mat [
mat [
while (i<=k)

mat [--u] [v]=p[i++];

bp [37]=p[k];

v=16;
k=n-17;
j=0;
i=x;

bp[43]=p(i];bp[47]=p[k];

u=ceil ((k-x+1)/2.0)-2;//printf ("%d %d % d\n",k,x, u);
£ (u>0) {

while (§<=u) {mat [w++] [v++]=p[i++];++;}

w-—;
j=0;
while (j<=u/2+1)
{
mat[--w] [v]=p[i++];j++;
}
v-=;
if (j<=u)
{
while (j<=u)
{
mat[--w] [v]=p[i++];
J++i
}
v-=;
}
else vt+=1;
while (i<=k)
mat[--w] [v—-—=]=p[i++];

}

else

{
mat[w] [v++]=p[i++];
mat [w] [v++]=p[i++];

while (i<=k)
mat[--w] [v--]=p[i++];
}



return 1;*/

while (j<4)
{

if ( check bond(p[k],pl[i])==0) {flag=2;break;} // D - arm with 20A&20B

mat [ut++] [v]=d arm[1l++]=p[k];

if (check bond(p[i],plk])==1)
mat [u++] [v]="]|";
else {

mat[u++] [v]="+";

arm for d--;

if (arm for d<0) {flag=2;break;}
}
mat [u++] [v]=d arm[l++]=p[i];v--;u-=3;

i-=;kt++;3++;

if (flag!=2)

{

bp[20]=p[i];

3=0; k=x++; //printf ("%d %d\n", i, k) ;getch();

bp(13]=p[x];bp[14]=p[x+1];//bp[17]1=bp[18]="g";
bp[17]=p[il];bp[18]=p[il+1];

while (3j<(i-k-2)/2)
{
mat [w+2] [v]=p[x++];v-—;J++;//printf ("OK\n") ;
}
mat [w+3] [Vv]=p[x++];
mat [wtd] [v]=p[xt++];
mat [w+5] [V]=p[x++];

while (x<=1)
mat [w+6] [++v]=p[x++];
i=n-16;

j=0;
k=n;

if(p[i+4]!="g") {flag=2;}
if(pli+5]!="t'&&p[i+5]!="a") {flag=2;}
if(p[i+7]!="c") {flag=2;}



if(pli+12]!="c") {flag=2;}

if (flag!=2)
{
mat[w] [22]=p[k-5];mat[w] [23]=p[k-6];v=17;w++;1=0;

while (3<5)

{
if ( check bond(p[k],pl[i])==0) {flag=2;break;};//T -arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond(p[i],plk])==1)
mat [w++] [v]="]|";
else

{

mat [w++] [v]="+";

arm for t--;if(arm for t<0){flag=2;break;}
}
mat [w++] [v]=t arm[l++]=p[i];v++;w—=3;

J++;k==;1++;
}
}
if (flag!=2)
{
mat [w+3]
mat [w+2]
mat [w+1]
mat [w] [v

[Vv++]=bp[53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];
[v]=bp[55]=p[i+t+];
[Vli=p[i++];
1=bp [57]=p[i++];

u=w+6;v=12;

m=x+4;mat [--u] [vt+]=bp[25]=p[m+1];u++;
i=m+2;
w=u; 1=0;

3=0;k=1+16;x=k+1;//printf ("%d %d\n",1i,k);
while (3<5)
{

//printf ("OK\n") ;
//printf ("$d %d %c %$c\n",i,k,pl[i],pl[k]);getch();

if ( check bond(p[k],p[i])==0) {flag=2;break;}//AC -arm
mat [u] [v++]=ac_arm[l++]=p[i];

if (check bond(pl[i],pl[k])==1)

mat[u] [v++]="-";

else

{



mat[u] [v++]="+";
arm_for ac--;if(arm for ac<0) {flag=2;break;}
}

mat [ut+] [v]=ac arm[1l++]=p[k];v-=2;

JHtsk——;1it++;
//printf ("%d %c flag=%d\n",m+8,p[m+8], flag) ;getch () ;

}

mat [u++] [v-1]=bp[31]=p[i++];
//printf ("$d %c flag=%d\n",m+8,p[m+8], flag) ;getch () ;

//if(p[m+8]!'="t") {flag=2;}
if(pm+8]!="t'&sp[m+8]!="c") {flag=2;}
//printf ("$d %c flag=%d\n",m+8,p[m+8], flag) ;getch () ;

if(flag!=2)

{

pp [32]=p [m+8] ;

mat [u++] [v-1]=p[i++];]=0;

mat[u] [v++]=anticodon[j++]=p[i++];

mat [u] [vt+]=anticodon[j++]=p[i++];

mat [u] [v++]=anticodon[j++]=p[i++];anticodon[j]="\0";

while (i<=k)
mat[--u] [v]=p[i++];

bp[37]=p[k];

v=16;
k=n-17;
j=0;
i=x;

bp[43]=pli];bp[47]1=plk];

u=ceil ((k-x+1)/2.0)-2;//printf ("%d %d % d\n",k,x, u);
1if (u>0) {

while (j<=u) {mat[w++] [V++]=p[i++];J++;}

wW-—;
3=0;
while (j<=u/2+1)
{
mat [--w] [v]=p[i++];]++;
}
v-=;
if (§<=u)
{
while (j<=u)
{
mat [--w] [Vv]=p[i++];
J++;



}

v-=;

}

else v+=1;

while (i<=k)

mat [--w] [v-=]=p[i++];

}

else

{if (u<0) flag=2;
mat [w] [vt+]=p[i++];
mat [w] [vt+]=p[i++];

while (i<=k)
mat [--w] [v-=]=p[i++];
}

//printf ("17a exists\n");
if (flag!=2)
if (check3dbp (bp,arm a-arm for a,arm d-arm for d,arm ac-
arm_for ac,arm t-arm for t))return 1;
else return 0;
//return 1;
}
}

int build trna ag(char *p,int 11,char mat[32][80],char *anticodon, char
*bp, char *a arm,char *d arm,char *ac_ arm,char *t arm)

{

int
i=0,3j,%k,m,n,u,v,w,x,1=0,flag=0,ml,ul,nl,wl,x1,11,12,m2,u2,n2,w2,x2;
int
arm_for a=arm a,arm for d=arm d,arm for ac=arm ac,arm for t=arm t;
u=0;3=0;

//printf ("$s\n",p); getch();

while (1<7)

{
v=14;//printf ("OK\n") ;printf ("%c %c\n",plil,pl[l-1i-1]);
if ( check bond(p[i]l,p[l1-i-1])==0)return 0; // A - arm

mat[u] [vt+]=a arm[Jj++]=p[i];



if (check bond(p[i],p[ll-i-1])==1)
mat [u] [v++]="-";
else
{
mat[u] [v++]="+";
arm for a--;if (arm for a<0)return 0;
}
mat [u++] [v]=a arm[j++]=p[ll-i-1];
i++;
}

w=wl=w2=u-1;

if(pli]!='t")return 0;
bp[7]=p[i];bp[8]=p[i+1];
mat[u++] [13]=p[i];

mat [u++] [12]=p[i+1];

n=nl=n2=11-1i-1;

Xx=x1=x2=1+5;
ul=u2=u;
m2=1;
j=0;
1=11=18;
while (i1>15)

i=il;u=ul=u2;w=wl=w2;m=ml=m2;n=nl=n2;x=x1=x2;1=0;v=11;
arm for d=arm d,arm for ac=arm ac,arm for t=arm t;

if((pli+l]=='a'")&s&pl[il=="qg')//17="g' does not exist
{

//printf ("i=%d\n", 1) ;getch();
for (12=u;12<32;12++)

for (3=0;3<80;++7)

mat[12] [J]=" ";

//bp[17]=p[i];bp[18]=p[i+1];

//1if (J==3)return 0;
m=ml=1i;
i+=7;//rintf ("%d\n",1);

3=0; k=m2+2; //v=11;ul=u;

//printf ("Ok %d \n",1i); getch();
while (§<4)

{

//printf ("OK\n") ;printf ("%c $c\n",pl[i],plk]);



if ( check bond(pl[k],p[i])==0) {flag=1l;break;} // D - arm with
20

mat [u++] [v]=d arm[1l++]=p[k];

if (check bond(p[il,p[k])==1)
mat[u++] [v]="]";
else {

mat [u++] [v]="+";

arm for d--;

if (arm for d<0) {flag=1;break;}
}

mat [ut+] [v]=d arm[l++]=p[i];v--;u-=3;

i-=; k++; J++;

if (flag!=1)

{

bp[20]=p[i];

j=0; k=x++; //printf ("%d %d\n", i, k) ;getch();

bp[13]=p[x];bp[l4]=p[x+1];bp[17]=p[il];bp[18]=p[il+1];

while (j<(i-k=-2)/2)
{

mat [w+2] [v]=p[x++];v-=;J++;//printf ("OK\n") ;
}

mat [w+3] [v]=p[x++];
mat [w+td] [v]=p[x++];
mat [w+5] [v]=p[x++];

while (x<=1)

mat [w+6] [++v]=p[x++];

i=n-16;//printf ("i=%d\n", i) ;getch();

j=0;

k=n;

if(pli+4]'!'="g') {flag=1;}
if(p[i+5]!="t'&&p[i+5]!="a") {flag=1;}
if(pli+7]!'="c") {flag=1;}
if(p[i+12]!'="c") {flag=1;}

mat[w] [22]=p[k-5];mat[w] [23]=p[k-6];v=17;w++;1=0;

while (3<5)
{
if ( check bond(p[k],p[i])==0) {flag=1;break;};//T -arm



}

mat [w++] [v]=t arm[l++]=p|

kl;

if (check bond(p[i],plk])==1)

mat [w++] [v]="]";
else

{

mat [w++] [v]="+";

arm for t--;if(arm for t<0){flag=1l;break;}

}

mat [w++] [v]=t arm[l++]=p[1

JHtik-—;i++;
}

if (flag!=1)
{
mat [w+3] [vt+]=bp[53]=p[i++],;mat[w
mat [w+2] [v]=bp[55]=p[i++];
mat [w+l] [v]=p[i++];
mat [w] [v]=bp[57]=p[i++];

u=w+6;v=12;

l;v+t;w—=3;

+3] [v++]=bp[54]=p[i++];

m=x+4;mat [--u] [v++]=bp[25]=p[m+1];u++;

i=m+2;
w=u; 1=0;

j=0;k=1+16;x=k+1;//printf ("%d
while (3<5)
{

//printf ("OK\n")

$d\n",1,k);

//printf ("%$c %c\n",pl[i]l,plk]);

if ( check bond(plk],pl[i])==

) {flag=1;break;}//AC —-arm

mat [u] [v++]=ac _arm[l++]=p[i];

if (check bond(p[i],pl[k])==1)

mat[u] [v++]="-";
else

{

mat[u] [vt+]="+";

arm_ for ac--;if (arm_

}

for ac<0) {flag=1l;break;}

mat [u++] [v]=ac_arm[l++]=p[k];v-=2;

JHtsk——;1i++;



mat[u++] [v-1]=bp[31]=p[i++];
//printf ("m=%d\n",m

if(p[m+8]!="t's&&p[m+8]!="c

if(flag!=1)
{bp[32]=p[m+8];

=p[i++]1;

mat [u++] [v-1]=p[i++];3=0;

mat[u] [v++]=anticodon[j++]

mat[u] [v++]=anticodon ]++] p[1++]
mat[u] [v++]=anticodon

while (i<=k)

mat [--u] [v]=p[i++];

bp[37]=plk];
v=16;
k=n-17;
j=0;
i=x;

bp[43]=p[i];bp[47]=p[k];

pli++]1;

u=ceil ((k-x+1)/2.0)-2;//printf ("$d %d

if (u>0) {

while (j<=u) {mat[w++] [v++]=

W—=y;

j=0;

while (j<=u/2+1)
{

mat[--w] [v]=p[i++];J++;

}

v-=;

if (j<=u)

{

while (j<=u)

{
mat[--w] [v]=p[i++];
J++;

}

v==;

}

else v+=1;

while (1i<=k)

mat[--w] [v-=]=p[i++];

}

else
{if (u<0) flag=1;

mat [w] [v++]=p[i++];
mat [w] [vt+]=p[i++];

while (i<=k)
mat[--w] [v—=-]=p[i++];
}

;t+0)

") {flag=1;}

anticodon|

j1="\0";

d\n"IkIXI U);



//printf ("17 a\n");

if (flag!=1)

if (check3dbp (bp,arm _a-arm for a,arm d-arm for d,arm ac-arm for ac,arm t-
arm_for t)) return 1;

else return O;

}

if (flag==1)
{

arm for d=arm d,arm for ac=arm ac,arm for t=arm t;
u=ul;w=wl;m=ml;n=nl;x=x1;1=0;

for (i=u;i<32;i++)
for (3=0;3j<80;++73)
mat[i] [J]=" ";

i=m+8;v=11;
3=0;k=m2+2;1=0;
while (3<4)

//printf ("OK\n") ;printf ("%c $c\n",pli],plk]);
if ( check bond(p[k],pl[i])==0) {flag=2;break;} // D - arm with

20A

mat [ut++] [v]=d arm[l++]=p[k];

if (check bond(p[il,p[k])==1)
mat[ut+] [v]="1]";
else {

mat [ut+] [v]="+";

arm for d--;

if (arm for d<0){flag=2;break;}
}

mat [u++] [v]=d arm[l++]=p[i];v--;u-=3;

i-—;k++;J++;



if (flag!=2)

{

bp[20]=p[i];

3=0; k=x++; //printf ("%d %d\n",i,k);getch();

bp[13]=p[x];bp[l4]=p[x+1l];//bp[l7]=bp[l8]='g';

bp[1l7]=plil];bp[18]=p[il+1];
while (j<(i-k-2)/2)
{
mat [w+2] [v]=p[x++];v-=;J++;//printf ("OK\n") ;
}
mat [w+3] [v]=p[x++];
mat [wtd] [v]=p[x++];
mat [w+5] [v]=p[x++];

while (x<=1)
mat [w+6] [++v]=p[x++];
i=n-16;

j=0;
k=n;

if(plit4]!="g") {flag=2;}
if (p[i+5]!="t'ssp[i+5]!="a"') {flag=2;}
if(pli+7]1!="c") {flag=2;}
if(p[i+12]!="c") {flag=2;}

if (flag!=2)
{
mat[w] [22]=p[k-5];mat[w] [23]=p[k-6];v=17;w++;1=0;

while (§<5)

{
if( check bond(plk],p[i])== ) {flag=2;break;};//T -arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond(p[i],plk])==1)
mat [w++] [v]="]";
else
{
mat [w++] [v]="+";
arm_ for t--;if(arm for t<0){flag=2;break;}
}

mat [w++] [v]=t arm[l++]=p[i];v++;w-=3;

JHtsk——;1i++;
}
}
if (flag!=2)
{
mat [w+3] [v++]=bp[53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];



mat [w+2
mat [w+1

mat [w

]
]
] [v

[Vv]=bp[55]=p[i++];
[VI=p[i++];
I=bp[57]=p[i++];

u=w+6;v=12;

//printf ("%d %c

X==;

//printf ("%d

}

bp[32]

m=x+4;mat[--u] [v++]=bp[25]=p [m+1]
i=m+2;

w=u; 1=0;
J=0;k=1+16;x=k+1;//printf ("%

while

{

(3<5)

//printf ("OK\n") ;
//printf ("%$c %c\n",pli

if ( check bond(plk

mat [u] [v++]=ac_arm[1l++]
if (check bond(p[i]l,plk
mat [u] [v++]="-";

else

{

mat [u] [v++]="+";

flag=%d\n",m+8,p[m+8],

I,plil)==

flag) ;getch();

yut+;

sd\n", i, k) ;

Iyplkl);

) {flag=2;break;}//AC -arm

=pl[i];

arm for ac--;if(arm for ac<0) {flag=2;break;}

}

mat [u++] [v]=ac_arm[1l++]

JHtsk——;1i++;

=p [k]

PV==2;

mat [u++] [v-1]=bp[31l]=p[i++];
//printf ("$d %$c flag=%d\n",m+8,p[m+8],flag) ;getch();
//if (p[m+8]!="t"') {flag=2;}
if(p[m+8]!="t'&sp[m+8]!="c") {flag=2;}
$c  flag=%d\n",m+8,p[m+8],flag);getch();
if(flag!=2)
{
=p[m+8];
mat [u++] [v=-1]=p[i++];3=0;
mat [u] [v++]=anticodon[Jj++]=p[i++];
mat [u] [vt+]=anticodon[j++]=p[i++];
mat [u] [v++]=anticodon[j++]=p[i++];anticodon[j]="\0";



while (i<=k)
mat [--u] [v]=p[i++];

bp[37]=plk];

v=16;
k=n-17;
j=0;
i=x;

bp[43]=p[i];bp[47]=p[k];

u=ceil ((k-x+1)/2.0)-2;//printf ("%d %4 % d\n",k,x, u);
if (u>0) {

while (j<=u) {mat [w++] [v++]=p[i++];j++;}

w-—;
j=0;
while (j<=u/2+1)
{
mat[--w] [v]=p[i++];j++;
}
v-=;
if (j<=u)
{
while (j<=u)
{
mat[--w] [v]=p[i++];
J++i
}
v-=;
}
else v+=1;
while (i<=k)
mat [--w] [v-=]=p[i++];

}

else

{if (u<0) flag=2;
mat [w] [vt+]=p[i++];
mat [w] [v++]=p[i++];

while (i<=k)
mat [--w] [v-=]=p[i++];
}

//printf ("17 \n");

if (flag!=2)

if (check3dbp (bp,arm a-arm for a,arm d-arm for d,arm ac-arm for ac,arm t-
arm_for t)) return 1;

else return O;

//return 1;
}

}

}



if (flag==2)
{

u=ul;w=wl;m=ml;n=nl;x=x1;1=0;flag=0;
for (i=u;i<32;i++)
for (3=0;3<80;++7)
mat[i] [J]I=" ";
i=m+9;v=11; arm for d=arm d,arm for ac=arm ac,arm for t=arm t;
J=0; k=m2+2;1=0;
/*1f( check bond(p[k],p[i])==0)return 0; // D - arm having

20A & 20B

mat [u++] [v]=d arm[1l++]=p[k];

if (check bond(p[il,p[k])==1)
mat[ut+] [v]="1]";
else

{
mat [u++] [v]="+";
arm for d--;
if (arm for d<0)return O;
}
mat [ut+] [v]=d arm[l++]=p[i];v--;u-=3;

i-—;kt++;3++;

}

3=0; k=x++;//printf ("%d %d\n",1i,k);getch();
bpl[l3]l=p(x];bpl[l4]l=p[x+1];bp[l7]=bp[18]="g"';
while (j<(i-k-2)/2)

{
mat [w+2] [v]=p[x++];v-—;J++;//printf ("OK\n") ;



}

mat [w+3] [v]=p[x++];
mat [wtd] [v]=p[x++];
mat [w+5] [v]=p[x++];

while (x<=1)

mat [w+6] [++v]=p[x++];

i=n-16;
3=0;
k=n;
f(pl[i+t4]!="g')return 0;
f(plit5]!="t'&&p[it5]!="a'")return 0;
f(p [1+7]':'c ) return O;
f(p[i+tl2]!="c') return 0;

mat [w] [22]=p[k-5];mat [w] [23]=p[k-6];v=17;w++;1=0;
while (§<5)

{
if ( check bond(p[k],p[i])==0)return 0;//T -arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond( [i],p[k])==1)
mat [w++] [v]="]"
else

{

mat [w++] [v]="+";

arm for t--;if (arm for t<0)return O;
}
mat [w++] [v]=t arm[l++]=p[i];v++;w—=3;

JHtsk——;i++;
}

mat [w+3] [vt+]=bp[53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];

mat [w+1l] [v]=p[i++];

mat [w] [v]=bp[57]=p[it++];

u=w+6;v=12;

m=x+4;mat [--u] [v++]=bp[25]=p [m+1];u++;
i=m+2;
w=u; 1=0;



j=0;k=1+16;x=k+1;//printf ("%d %d\n",1i,k);
while (3<5)
{

//printf ("OK\n") ;
//printf ("$c %c\n",pl[i],pl[k]);

if ( check bond(p[k],p[i])==0)return 0;//AC -arm
mat [u] [v++]=ac arm[1l++]=p[i];

if (check bond(p[i],plk])==1)
mat[u] [vH+]="-";
else

{
mat[u] [vt+]="+";
arm for ac--;if(arm for ac<0)return 0;

}

mat [ut+] [v]=ac arm[l++]=p[k];v-=2;

JHtsk——;1i++;

mat[u++] [v-1]=bp[31]=p[i++];

if(p[m+8]!="t'")return 0;

mat [u++] [v-1]=p[i++];]=0;

mat [u] [vt+]=anticodon[j++]=p[i++];

mat [u] [v++]=anticodon[j++]=p[i++];

mat [u] [v++]=anticodon[j++]=p[i++];anticodon[j]="\0";

while (i<=k)
mat[--u] [v]=p[i++];

bp[37]=p[k];

v=16;
k=n-17;
j=0;
i=x;
bp[43]=pli];bp[47]1=plk];
u=ceil ((k-x+1)/2.0)-2;//printf ("%d %d % d\n",k,x, u);
f(u>0) {

while (j<=u) {mat [wt++] [v++]=p [i++];J++;}

wW——7;
3=0;
while (j<=u/2+1)
{
mat [--w] [v]=p[i++];J++;
}
V==
if (j<=u)



{

while (j<=u)

{
mat[--w] [v]=p[it++];
J++i

}

v==;

}

else v+=1;

while (i<=k)

mat [--w] [v-=]=p[i++];

}

else

{
mat [w] [v++]=p[i++];
mat [w] [v++]=p[i++];

while (i<=k)
mat[--w] [v——-]=p[i++];

}

return 1;*/

while (j<4)
{

if( check bond(plk],p[i])==0) {flag=2;break;} // D - arm with 20A&20B
mat [ut++] [v]=d arm[1l++]=p[k];

if (check bond(p[i],plk])==1)
mat[u++] [v]="]";
else {
mat [u++] [v]="+";
arm for d--;
if (arm for d<0) {flag=2;break;}
}
mat [ut+] [v]=d arm[l++]=p[i];v--;u-=3;

i-—;kt++;3++;

if (flag!=2)

{

bp[20]=p[i];

3=0; k=x++; //printf ("%d %$d\n", i, k);getch();

bp[l3]=p[x];bp[l4]=p[x+1];//bp[l7]=bp[l8]='g’';
bp[17]=p[il];bp[18]=p[il+1];



while (j<(i-k=-2)/2)
{

mat [w+2] [v]=p[x++];v-—;J++;//printf ("OK\n") ;
}

mat [w+3] [v]=p[x++];
mat [w+4] [v]=p[x++];
mat [w+5] [v]=p[x++];

while (x<=1)

mat [w+6] [++v]=p[x++];

i=n-16;

j=0;
k=n;
if(pli+4]!="g'") {flag=2;}
if(pli+5]!="t'&&pl[i+5]!="a") {flag=2;}
if(pli+7]1!="c") {flag=2;}
if(pli+12]!="c") {flag=2;}

if (flag!=2)

{
mat[w] [22]=p[k-5];mat[w] [23]=p[k-6];v=17;w++;1=0;

while (7<5)
{
if ( check bond(plk],pl[i])== ) {flag=2;break;};//T —-arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond(p[i],plk])==1)
mat [w++] [v]="]";
else
{
mat [w++] [v]="+";
arm for t--;if (arm for t<0){flag=2;break;}
}
mat [w++] [v]=t arm[l++]=p[i];v++;w—=3;

JH+;k——;1i++;

if (flag!=2)
{
mat [w+3] [v++]=bp [53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];
mat [w+l] [v]=p[i++];
mat [w] [v]=bp[57]=p[i++];

u=w+6;v=12;



bp[32]

m=x+4;mat[--u] [v++]=bp[25]=p[m+1]
i=m+2;
w=u; 1=0;

j=0;k=1+16;x=k+1;//printf ("%
while (3<5)
{

//printf ("OK\n") ;
//printf ("%d %d

’

if ( check bond(p[k],p[i])==

mat [u] [v++]=ac _arm[1l++]=p[i];

if (check bond(p[il,p[k])==1)
mat [u] [v++]="-";
else

{
mat[u] [vt+]="+";

yu+t+;

sd\n", 1, k) ;

$c %c\n",i,k,pl[i]l,plk]);getch();

) {flag=2;break;}//AC -arm

arm_for ac--;if(arm for ac<0) {flag=2;break;}

}

mat [ut+] [v]=ac arm[l++]=p[k];v-=2;

J++rk——;i++;
//printf ("%d %c

}

mat [u++] [v-1]=bp[31]=p[i++];
//printf ("%d %c

//if (p[m+8]1="t") {flag=2;}
if(p[m+8]!="t"'ssp[m+8]!="c
//printf ("%d %c

if(flag!=2)
{

=p [m+8];
mat [u++] [v-1]=p[i++];3=0;
mat [u] [v++ ] =anticodon[j++]=p[i++];
mat[u][v +]=anticodon[j++]=p[i++];
mat [u] [vt+]=anticodon[j++

while (i<=k)
mat[--u] [Vv]=p[i++];

bp[37]=p[k];

flag=%d\n",m+8, p [m+8]

flag=%d\n",m+8, p[m+8]

'Y {flag=2;}
flag=%d\n",m+8, p [m+8]

,flag);getch();

flag);getch();

,flag);getch();

]=p[i++];anticodon[j]="\0";



v=16;
k=n-17;
j=0;
i=x;
bp[43]=p[i];bp
u=ceil ((k-x+1)
if (u>0) {
while (j<=u) {mat [w++] [v++]=p[i++];++;}

(47]=plk];
/2.0)-2;//printf("%d %d % d\n",k,x, u);

wW==;
J=0;
while (j<=u/2+1)
{
mat[--w] [v]=p[i++];J++;
}
v--;
if (j<=u)
{
while (j<=u)
{
mat [--w] [Vv]=p[i++];
J++;
}
v--;
}
else v+=1;
while (i<=k)
mat[--w] [v—=]=p[i++];

}

else

{if (u<0) flag=2;
mat [w] [vt+]=p[i++];
mat [w] [v++]=p[i++];

while (i<=k)
mat [--w] [v-=]=p[i++];
}

//printf("17a exists\n");
if (flag!=2)
if (check3dbp (bp,arm a-arm for a,arm d-arm for d,arm ac-arm for ac,arm t-
arm for t)) return 1;
else return 0;
//return 1;
}
}
}

il--;

return 0;

}



int build trna9abs(char *p,int 11,char mat[32][80],char *anticodon,
*bp, char *a arm,char *d arm,char *ac_arm,char *t arm)

{

int

i=0,3j,%kx,m,n,u,v,w,x,1=0,flag=0,ml,ul,nl,wl,x1,11,1i2,m2,u2,n2,w2,x2;

int

arm for a=arm a,arm for d=arm d,arm for ac=arm ac,arm for t=arm t;
u=0;3=0;
//printf ("$s\n",p); getch();
while (i<7)

{

}

v=14;//printf ("OK\n") ; pr1ntf("° sc\n",pli],pll-i-11);
if ( check bond(p[i]l,p[l1-1i-1])==0)return 0; // A - arm

mat [u] [vt+]=a arm[j++]=p[i];

if (check bond(p[i],p[ll-i-1])==1)
mat[u] [v++]="-";
else
{
mat [u] [vt+]="+";

arm for a--;if (arm for a<0)return 0;
}
mat [u++] [v]=a arm[j++]=p[ll-i-1];
i++;

w=wl=w2=u-1;

if(p
bp[7
mat[u

'"Yreturn 0;
1: bp[8]='—';
13]=plil;

i

] l
pli
++] [

//mat[u++] [12]=p[i+1];

n=nl=n2=11-1i-1;

x=x1=x2=1+4;
ul=u2=u;
m2=i-1;

j=0;

i=i1=17;
while (11>14)

char



i=il;u=ul=u2;w=wl=w2;m=ml=m2;n=nl=n2;x=x1=x2;1=0;v=11;
arm_for d=arm d,arm for ac=arm ac,arm for t=arm t;

if ((pli+ll=="g'||p[i+l]l=="a'")&&p[i]l=="'qg"')//17="g' does not
exist

{

//printf ("i=%d\n", 1) ;getch () ;
for (12=u;12<32;1i2++)

for (3=0;j<80;++73)

mat[i2] [J1=" ";

//bp[17]=p[i];bp[18]=p[i+1];

//if (j==3)return 0;
m=ml=1i;
i+4=7;//rintf ("%d\n", 1) ;

j=0;k=m2+2;//v=11;ul=u;

//printf ("Ok %d \n",1i); getch();
while (§<4)

{

//printf ("OK\n") ;printf ("%c $c\n",pl[i],plk]);

if ( check bond(p[k],p[i])==0) {flag=1l;break;} // D - arm with
20
mat [ut++] [v]=d arm[1l++]=p[k];
if (check bond(p[i],plk])==1)
mat[ut+] [v]="]|";
else {
mat [u++] [v]="+";
arm for d--;
if (arm for d<0) {flag=1l;break;}
}
mat [u++] [v]=d arm[l++]=p[i];v--;u-=3;
i-=;kt++;3++;
}
if (flag!=1)

{
bp[20]=p[i];
3=0; k=x++; //printf ("%d %$d\n", i, k);getch();

bp[13]=p[x];bp[14]=p[x+1];bp[17]=p[il];bp[18]=p[il+1];



while (j<(i-k=-2)/2)
{

mat [w+2] [v]=p[x++];v-—;J++;//printf ("OK\n") ;
}

mat [w+3] [v]=p[x++];
mat [w+4] [v]=p[x++];
mat [w+5] [v]=p[x++];

while (x<=1)
mat [w+6] [++v]=p[x++];
i=n-16;//printf ("i=%d\n",1i) ;getch();

3=0;
k=n;

if(p[i+4]!="g") {flag=1;}
if(p[i+5]!="t'&&p[i+5]!="a"') {flag=1;}
if(p[i+7]!="c") {flag=1;}
if(pli+l2]!="c") {flag=1;}

if (flag!=1)
{
mat[w] [22]=p[k-5];mat [w] [23]=p[k-6];v=17;w++;1=0;

while (§<5)

{
if ( check bond(plk],p[i])== ) {flag=1;break;};//T -arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond(p[il,p[k])==1)
mat [w++] [v]="|";
else

{

mat [w++] [v]="+";

arm_ for t--;if(arm for t<0){flag=1l;break;}
}
mat [w++] [v]=t arm[l++]=p[i];v++;w—=3;

JHtsk——;1i++;

mat [w+3] [v++]=bp[53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];

mat [w+l] [v]=p[i++];

mat[w] [v]=bp[57]=p[i++];

u=w+6;v=12;



m=x+4;mat [--u] [v++]=bp[25]=p [m+1];u++;
i=m+2;
w=u; 1=0;

J=0;k=1+16;x=k+1;//printf ("%d %d\n",1i,k);
while (3<5)
{

//printf ("OK\n") ;
//printf ("$c %c\n",pl[i],pl[k]);

if ( check bond(p[k],pl[i])==0) {flag=1;break;}//AC -arm
mat [u] [v++]=ac arm[l++]=p[i];

if (check bond(p[i],plk])==1)
mat[u] [v+t+]="-";
else

{
mat[u] [vt+]="+";
arm for ac--;if(arm for ac<0) {flag=1l;break;}
}
mat [ut+] [v]=ac arm[l++]=p[k];v-=2;

JHtsk——;1i++;

mat [u++] [v-1] bp[31] =p[i++];
//printf ("m=%d\n",m) ;getch () ;

//if (p[m+8]!="t's&p[m+8]!="c') {flag=1;}
if(p[m+8]!="t") {flag=1;}

}
if (flag!=1)

{
bp[32]=p[m+8];
mat [u++] [v-1]=p[i++];]=0;
mat[u] [v++]=anticodon[Jj++]=p[i++];
mat [u] [vt+]=anticodon[j++]=p[i++];
mat [u] [v++]=anticodon[j++]=p[i++];anticodon[j]="\0";

while (1i<=k)
mat[--u] [v]=p[i++];

bp [37]=p[k];



47]1=p[k];

bp[43]=p[i];bpl
)/2.0)-2;//printf ("%d %d % d\n",k,x, u);

u=ceil ( (k—-x+1
if (u>0) {
while (j<=u) {mat [w++] [v++]=p[i++];j++;}

W=7
j=0;
while (j<=u/2+1)
{

mat[--w] [v]=p[i++];J++;
}
v--;
if (j<=u)
{
while (j<=u)
{

mat [--w] [v]=p[i++];

J++;

}
v==;
}
else v+=1;
while (i<=k)
mat [--w] [v--]=p[i++];

}

else

{if (u<0) flag=1;
mat [w] [vt+]=p[i++];
mat[w] [v++]=p[i++];

while (i<=k)
mat[--w] [v—-]=p[i++];

}

//printf ("17 a\n");

if (flag!=1)
if (check3dbp (bp,arm a-arm for a,arm d-arm for d,arm ac-arm for ac,arm t-
arm for t)) return 1;
else return 0O;
}
}

if (flag==1)
{

arm for d=arm d,arm for ac=arm ac,arm for t=arm t;
u=ul;w=wl;m=ml;n=nl;x=x1;1=0;



for (i=u;i<32;i++)
for (3=0;3j<80;++73)

mat[1i] [J]=" "7

i=m+8;v=11;
3=0; k=m2+2;1=0;
while (7<4)

//printf ("OK\n") ;printf ("%c %c\n",pli]l,plk]);

if ( check bond(p[k],pl[i])==0) {flag=2;break;} // D - arm with
20A
mat [u++] [v]=d arm[1l++]=p[k];
if (check bond(p[i],plk])==1)
mat[u++] [v]="]";
else {
mat[u++] [v]="+";
arm for d--;
if (arm for d<0) {flag=2;break;}
}
mat [ut+] [v]=d arm[l++]=p[i];v--;u-=3;
i-—;k++;3++;
}
if (flag!=2)

{
bp[20]=p[i];
3=0; k=x++; //printf ("%d %d\n", i, k) ;getch();

bp[13]=p[x];bp[l4]=p[x+1];//bp[17]=bp[18]="g";

bpl[l7]=p[il];bp[18]=p[il+1l];
while (3j<(i-k-2)/2)
{
mat [w+2] [v]=p[x++];v-—;J++;//printf ("OK\n") ;
}
mat [w+3] [v]=p[x++];
mat [w+td] [v]=p[x++];
mat [w+5] [v]=p [x++];

while (x<=1)
mat [w+6] [++v]=p[x++];
i=n-16;

J=0;
k=n;



2;}

;v=17;w++;1=0;

==0) {flag=2;break;};//T -arm

_t<0) {flag=2;break;}

Fvttiw—=3;

[Vvt+]=bp[54]=p[i++];

if(p[i+4]' 'g') {flag=2;}
f(p[i+5]!="t'&&p[i+5]!="a"'") {flag=
1f(p[1+7]':'c'){flag 2;}
f(pli+l2]!='c") {flag=2;}
if (flag!=2)
{
mat[w] [22]=p[k-5];mat[w] [23]=p[k-6]
while (3<5)
{
if ( check bond(plk],p[i])
mat [w++] [v]=t arm[l++]=p[k];
if (check | bond( [i],p[k])==1)
mat [w++] [v]="]"
else
{
mat [w++] [v]="+";
arm for t--;if (arm for
}
mat [w++] [v]=t arm[l++]=p[i]
JH++;k==;1i++;
}
}
if (flag!=2)
{
mat [w+3] [v++]=bp[53]=p[i++];mat [w+3]
mat [w+2] [v]=bp[55]=p[i++];
mat [w+l] [v]=p[i++];
mat [w] [v]=bp[57]=p[it++];

u=w+6;v=12;

//printf ("%d

X==;

m=x+4

;mat[—--u] [v++]

%c  flag=%d\n",m+8,p[m+8]

=bp [25]=p [m+1]

i=m+2;

w=u; l=

0;

i+16;x=k+1;//printf ("%d

while (3<5)

{

//printf ("OK\n") ;

//printf ("%c %c\n",pli],plk]
if ( check bond(p[k],p[i])==
mat [u] [v++]=ac_arm[l++]=p[i];

»flag)

;getch();

yu+t+;

d\n", 1i,k);

) ;
) {flag=2;break;}//AC -arm

’



if (check bond(p[i],plk])==1)
mat [u] [v++]="-";
else
{

mat[u] [v++]="+";

arm for ac--;if(arm for ac<0) {flag=2;break;}

}
mat [ut++] [v]=ac arm[l++]=p[k];v-=2;

Jt+ik-—;i++;

mat[u++] [v-1]=bp[31]=p[i++];

//printf ("$d %$c flag=%d\n",m+8,p[m+8],flag) ;getch();
//if (p[m+8]!="t") {flag=2;}
//if(p[m+8]!="t's&p[m+8]!="c"') {flag=2;}
if(p[m+8]!="t") {flag=2;}

//printf ("$d %c flag=%d\n",m+8,p[m+8],flag);getch();
}

if(flag!=2)
{
bp[32]=p[m+8];
mat [u++] [v-1]=p[i++];]=0;
mat [u] [vt+]=anticodon[j++]=p[i++];
mat [u] [v++]=anticodon[j++]=p[i++];
mat [u] [v++]=anticodon[j++] p[1++]-anticodon[j]='\0';

while (i<=k)
mat [--u] [v]=p[i++];

bp[37]1=plk];

v=16;
k=n-17;
j=0;
i=x;
bp[43]

=pli 7
u=ceil ((k-x
{
<=

il; bp[ I=plkl];
1)/2.0)-2;//printf ("%d %d % d\n",k,x, u);
£ (u>0)
while (j<=u) {mat [w++] [Vv++]=p [i++];J++;}
w==;
3=0;
while (j<=u/2+1)
{
mat[--w] [v]=p[i++];J++;
}
v-—;
if (j<=u)
{
while (j<=u)



mat [--w] [V]=p[i++];
J++;

}

v-=;

}

else v+=1;

while (i<=k)

mat[--w] [v——]=p[i++];

}

else

{if (u<0) flag=2;
mat [w] [vt+]=p[i++];
mat [w] [vt+]=p[i++];

while (i<=k)
mat [--w] [v-=]=p[i++];
}

//printf ("17 \n");

if (flag!=2)

if (check3dbp (bp,arm _a-arm for a,arm d-arm for d,arm ac-arm for ac,arm t-
arm for t)) return 1;

else return 0O;

//return 1;
}
}
}
if (flag==2)
{
u=ul;w=wl;m=ml;n=nl;x=x1;1=0;flag=0;
for (i=u;i<32;i++)
for (3=0;3<80;++73)
mat[i] [J]=" ";

i=m+9;v=11; arm for d=arm d,arm for ac=arm ac,arm for t=arm t;



J=0;k=m2+2;1=0;

/*1f( check bond(plk],p[i])==0)return 0; //
20A & 20B

mat [ut++] [v]=d arm[1l++]=p[k];

if (check bond(p[i],pl[k])==1)
mat [u++] [v]="]";
else

{
mat[u++] [v]="+";
arm for d--;
if (arm for d<0)return O;

}

mat [ut+] [v]=d arm[l++]=p[i];v--;u-=3;

i-—;kt++;3++;
1

3=0; k=x++;//printf ("%d %$d\n",i, k) ;getch();

bp[13]=p[x];bp[l4]=p[x+1];bp[17]=bp[1l8]="g";

while (3j<(i-k-2)/2)
{
mat [w+2] [v]=p[x++];v-—;J++;//printf ("OK\n") ;
}
mat [w+3] [V]=p[x++];
mat [wtd] [v]=p[xt++];
mat [w+5] [Vv]=p[x++];

while (x<=1)

mat [w+6] [++v]=p[x++];

i=n-16;
j=0;
k=n;
if(pl[i+4]'!'="g')return O0;
if(p[i+5]!'="t'&&p[i+5]!="a"')return O;
if(pli+7]!="c'")return 0;
if(pl[i+l2]!="c")return O;

mat[w] [22]=p[k-5];mat[w] [23]=p[k-6];v=17;w++;1=0;

while (§<5)
{

D - arm having



if ( check bond(p(k],p[i])==0)return 0;//T -arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond(p[i],plk])==1)
mat [w++] [v]="|";

else

{

}

mat [w++] [v]="+";
arm for t--;if (arm for t<0)return 0;

mat [wt+] [v]=t arm[l++]=p[i];v++;w—=3;

Jt++; k——;i++;
}
mat [w+3] [vt+]=bp[53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];
mat [w+l] [v]=p[i++];
mat [w] [v]=bp[57]=p[i++];

u=w+6;v=12;

m=x+4;mat [--u] [v++]=bp[25]=p[m+1];u++;

i=m+2;
w=u; 1=0;

9=0;k=1+16
while (§<5)
{

;x=k+1;//printf ("%d %d\n",1i,k);

//printf ("OK\n")
//printf ("%$c %c\n",pl[i]l,plk]);

if ( check bond(p[k],p[i])==0)return 0;//AC -arm

mat[u

] [v++]=ac_arm[1l++]=p[i];

if (check bond(p[i],pl[k])==1)

mat[u
else

{

}

] [vi+]="=";

mat[u] [vt+]="+";
arm_ for ac--;if(arm for ac<0)return 0;

mat [u++] [v]=ac_arm[l++]=p[k];v-=2;

JH+sk—-

;it+;



mat [u++] [v-1]=bp[31]=

f(p[m+t8]!="t')return 0;

mat
mat
mat
mat

u
u

— — — —

n
u]
]
]

while (i<=k)

mat [--u] [v]=p[i++];

bp[37]=plk];
v=16;
k=n-17;
j=0;
i=x;

bp[43]=p[i];bp[47]=p[k];

ut+] [v-1]=p[i++];]=0;
[v++]=anticodon []++]
[v++]=anticodon j++] p[1++]
[v++]=anticodon

=p[i++]1;

pli++]1;

u=ceil ((k-x+1)/2.0)-2;//printf ("$d %d

if (u>0) {

while (j<=u) {mat[w++] [v++]=

w--;
j=0;

while (j<=u/2+1)
{

mat [--w] [Vv]=p[i++];J++;

}

v--;

if (j<=u)

{

while (j<=u)

{
mat [--w] [v]=p[i++];
J++;

}

v-=;

}

else v+=1;

while (i<=k)

mat[--w] [v—-]=p[i++];

}

else

{

mat [w] [v++]=p[i++];
mat [w] [vt+]=p[i++];

while (i<=k)
mat [--w] [v-=]=p[i++];
}

return 1;*/

;)

anticodon|

jI="\0";

d\n",k,x, u);



while (j<4)
{

if ( check bond(p([k],pl[i])==0) {flag=2;break;} // D - arm with 20A&20B

mat [u++] [v]=d arm[1l++]=p[k];

if (check bond(p[i],plk])==1)
mat [u++] [v]="]|";
else {

mat[u++] [v]="+";

arm for d--;

if (arm for d<0) {flag=2;break;}
}

mat [ut+] [v]=d arm[l++]=p[i];v--;u-=3;

i-—;k++;3++;

if (flag!=2)

{

bp[20]=p[i];

j=0; k=x++; //printf ("%d %d\n", i, k) ;getch();

bp[13]=p[x];bp[l4]=p(x+1];//bp[17]=bp[18]="g";
bp[17]=p[il];bp[18]=p[il+1];

while (3j<(i-k-2)/2)
{

mat [w+2] [v]=p[x++];v-—;J++;//printf ("OK\n") ;
}

mat [w+3] [v]=p[x++];
mat [w+4] [v]=p[x++];
mat [w+5] [v]=p [x++];

while (x<=1)

mat [w+6] [++v]=p[x++];

i=n-16;
J=0;
k=n;
if(pli+4]'!'="g') {flag=2;}
if(pli+5]!="t'&&p[i+5]!="a') {flag=2;}
if(pli+7]'="c") {flag=2;}
if(pli+1l2]!="c") {flag=2;}



mat[w] [22]=p[k-5];mat [w] [23]=p[k-6];v=17;w++;1=0;
while (3<5)

{
if ( check bond(p[k],pl[i])==0) {flag=2;break;};//T -arm

mat [w++] [v]=t arm[l++]=p[k];

if (check bond(p[i],plk])==1)
mat [w++] [v]="]|";
else

{

mat [w++] [v]="+";

arm_ for t--;if(arm for t<0){flag=2;break;}
}

mat [w++] [v]=t arm[l++]=p[i];v++;w—=3;

JHtsk——;i++;
}
}

if (flag!=2)
{
mat [w+3] [v++]=bp[53]=p[i++];mat [w+3] [v++]=bp[54]=p[i++];
mat [w+2] [v]=bp[55]=p[i++];
mat [w+l] [v]=p[i++];
mat[w] [v]=bp[57]=p[i++];

u=w+6;v=12;

m=x+4;mat [--u] [vt+]=bp[25]=p[m+1];u++;
i=m+2;
w=u; 1=0;

9=0;k=1+16; x=k+1; //printf ("sd %d\n", i, k) ;
while (§<5)
{

//printf ("OK\n") ;
//printf ("sd %d %c %$c\n",i,k,pl[i],pl[k]);getch();

if ( check bond(p[k],pl[i])==0) {flag=2;break;}//AC -arm
mat [u] [v++]=ac _arm[l++]=p[i];

if (check bond(pl[i],pl[k])==1)
mat[u] [v++]="-";
else

{
mat[u] [vt+]="+";
arm for ac--;if(arm for ac<0) {flag=2;break;}
}

mat [u++] [v]=ac_arm[l++]=p[k];v-=2;



JHtsk——;1it++;
//printf ("%d %c flag=%d\n",m+8,p[m+8], flag) ;getch () ;

}

mat [u++] [v-1]=bp[31]=p[i++];
//printf ("$d %c flag=%d\n",m+8,p[m+8], flag) ;getch () ;

//if(pIm+8]!="t") {flag=2;}

//if (p[m+8]!="t"s&p[m+8]!="c') {flag=2; }

if(p[m+8]!'="t") {flag=2;}

//printf ("$d %c flag=%d\n",m+8,p[m+8], flag) ;getch () ;

if(flag!=2)
{
bp[32]=p[m+8];

mat [u++] [v-1]=p[i++];3=0;

mat[u] [v++]=anticodon[j++]=p[i++];

mat [u] [vt+]=anticodon[j++]=p[i++];

mat [u] [v++]=anticodon[j++]=p[i++];anticodon[]j]="\0";

while (1i<=k)
mat[--u] [Vv]=p[i++];

bp [37]=p[k];

v=16;
k=n-17;
j=0;
i=x;

bp[43]=p[i]l;bp[47]1=p[k];

u=ceil ((k-x+1)/2.0)-2;//printf ("%d %d % d\n",k,x, u);
if (u>0) {

while (j<=u) {mat [w++] [v++]=p[i++];j++;}

w-—;
j=0;
while (j<=u/2+1)
{
mat[--w] [v]=p[i++];J++;

v-=;

if (j<=u)

{

while (j<=u)

{
mat [--w] [v]=p[i++];
J++;

v--;

}



else v+=1;
while (i<=k)
mat[--w] [v-=]=p[i++];

}

else

{if (u<0) flag=2;
mat [w] [vt+]=p[i++];
mat [w] [vt+]=p[i++];

while (i<=k)
mat [--w] [v-=]=p[i++];
}

//printf ("17a exists\n");

if (flag!=2)
if (check3dbp (bp,arm a-arm for a,arm d-arm for d,arm ac-arm for ac,arm t-
arm_for t)) return 1;
else return 0;
//return 1;
}
}

return 0;

}

int display(char mat[32][80],char *anti,char *bp,char *a arm,char
*d_arm,char *ac_arm,char *t arm,FILE *f,FILE *fl,int start,int end, int
startl,int endl,char *p2,char *p4,char *p3,char *spl,char *sp2,char
*sp3,char *sp4,char *p,int add,char *stl,char *st2,char *bhl, char
*bh2,char *top)

{
//static int k=1;

char
acid[64] [5] ={ "Phe", "Phe", "Leu", "Leu", "Ser", "Ser", "Ser", "Ser", "Cysll, "CYS",

"Trp", "SeC", "Tyr", "Tyr", "Stop", "Stop", "Leu", "Leu", "Leu", "Leu", "Pro"
, "Pro", "Pro",



"Proll, "Arg", "Arg", "Arg", "Arg", "HiS", "HiS", "Gln", "Gln", "Val" , "Val", n
val", "val",

"Ala", "Ala", "Ala", "Ala", "Gly", "Gly", "Gly", "Gly", "Asp", "ASp" , "Glu", "
Glu", "Ile",

"Ile","Met","Ile","Thr","Thr","Thr","Thr","Ser","Ser","Arg—","Arg","
ASH", "ASD",
"Lys n , "Lys " } ;

char anticodon[64] [5]=({

"aaa", "gaa", "caa", "taa", "aga", "gga", "Cga"’ "tga" , "aca", "gca", "Cca" , Al
tca", "ata", "gta",

"cta", "tta", llaag", "gag", "Cag" , "tag—", llagg", "gg—g", "ng", "tg—g—" , "acg-", "
gcg", "ccg", "tcg",

"atg", "gtg", "Ctg", "ttg", "aacll , "gacl', "CaC", "taC", "agC", "gg—cll , "CgC", n
tgc", "acc", 'Vgcc",

"CCC", "tcc", "atC", "gtC", "th", "ttC", "aat", "gat", "Cat", "tat", "agt", AL
ggt", "cgt", "tgt",
"act", "gct", "Cct", "tct", "att", "gtt", "Ctt", "ttt"};

int i,7,%k;

if (startl<=endé&&startl>=start)return 0;
if (start<=endl&&start>=startl) return O0;

if (strcmp (top, "acca") !'=0&&strcmp (top, "ccca") !'=0&&strcmp (top, "tcca") !'=0&4&s
trcmp (top, "gcca") !=0) return 0;//tRNA gulo acca,or tcca,or ccca, Or gcca
fprintf (£, "%d.\n", no++) ;

j=strlen (top);

for (i=j-1;i>=0;--1)
{
for (k=0;k<16;++k)
fporintf(£," ");
fprintf (£, "%c\n", toplil]);
}
for (i=0;1<32;++1)
{ for (j=0;3<80;++3J)
fprintf (£, "%c", mat[i][j]);
fprintf (£, "\n");
}

for (1=0;1<64;++1)
if (strcmp (anti,anticodon[i])==0)
{
fprintf (£, "trna - %s ( %s
)\n",acid[i],anticodon[i]); fprintf (f,"trna length - %d\n", LENGTH) ;

fprintf (£1,"%s\t%s\t\t",acid[i],anticodon[i]);



if (startl-1==end)
fprintf (f,"trna sequence (%d - %d)\n\n\n",start,endl);
else

o\

fprintf (f,"trna sequence (%d - %d,%d -

%$d) \n\n\n", start,end, startl,endl) ;

fprintf (£1,"%s\t%c-%c\t%c-%c\t3c-%c\t%c-%c\t%c-%c\tsc-%c\tsc-%c\t

",p4,a arm[0],a arm[l],a arm[2],a arm[3],a arm[4],a arm[5],a arm[6],a arm
[7],a_arm[8],a arm[9],a arm[10],a arm[ll],a arm[l2],a arm[1l3]);

fprintf (£1,"$c-%c\t %c-%c\t %$c-%c\t %c-%c\t

",d arm[0],d arm[1l],d arm[2],d arm[3],d arm[4],d arm[5],d arm[6],d arm[7]
) ;

fprintf (f1,"%c-%c\t %c-%c\t %$c-%c\t %$c-%c\t %$c-%c\t
",ac_arm[0],ac_arm[l],ac_arm[2],ac _arm[3],ac_arm[4],ac_arm[5],ac _arm[6],a
c arm[7],ac_arm[8],ac_arm[9]);

fprintf (£f1, "%c-%c\t %c-%c\t %c-%c\t %c-%c\t %c-%c\t

",t arm[1l],t arm[0],t arm[3],t arm([2],t arm([5],t arm[4],t arm[7],t arm[6]
,t arm([9],t arm[8]);

fprintf (f1,"%c-%c\t %c-%c\t %c-%c\t %c-%c\t %c-%c\t %c-%c\t %c-
c\tsc\tsc\tsc\t%s\t%40s\t",bp[7],bp(13],bp(14],bp[47],bp[17],bp[54],bp[1
8]1,bp[55],bp[25],bp[43],bp[31],bp[37],bp[53],bp[57],bp[8],bp[20],bp[32],p
21P3),‘

if (startl-1l==end)

{
for (i=0;1<20;i++)
sp2[i]l=sp3[i]="-";sp2[i]=sp3[i]="\0";

fprintf (£f1, "%$s\t%s\t%s\t%s\tss\t%s\t%s\t%s\t%s\t", spl, sp2,sp3, sp4,p,stl,s
t2,bhl,bh2);

if (add==1) fprintf (f1, "$s\n", "Mathing 1st and 4th");

else if(add==2) fprintf (fl,"%$s\n","Exists bh loop");

else if (add==3) fprintf (f1,"%s\n","Mathing 1st and 4th AND Exists bh
loop");

else if (add==4) fprintf (f1,"%s\n","Mathing 1st and 4th AND Dbh loop does
not exist");

fflush(f);
fflush(£fl);
}

int cdisplay(char mat[32][80],char *anti,char *bp,char *a arm,char
*d_arm,char *ac_arm,char *t arm,FILE *f,FILE *fl,int start,int end, int
startl,int endl,char *p2,char *p4,char *p3,char *spl,char *sp2,char
*sp3,char *sp4,char *p,int add,char *stl,char *st2,char *bhl, char
*bh2,char *top)



//static int k=1;

char
acid[64] [5] :{ "Phe", "Phe", "Leu", "Leu", "Ser", "Ser", "Ser" , "Ser", "CYS", "CyS",

"Trp", "Sec", "Tyr", "Tyr", "Stop"’ "Stop", "Leu", "Leu"’ "Leu", "Leu", "Pro"
, "PrO", "Proll,

"PIO", "Arg", "Arg", "Arg", "Arg", "HiS", "HiS", "Gln", "Gln", "yal" , "Val", "
Val", "Val",

"Ala", "Ala", "Ala", "Ala", "Gly", "Gly", "Gly", "Gly", "Asp", "Asp" , "Glu", n
Glu", "Ile",

"Ile","Met","Ile","Thr","Thr","Thr","Thr"’"Ser","Ser","Arg","Arg","
Asn" "Asn"
’ ’ "Lysl' "Lys"} .
4 4

char anticodon[64] [5]={

"aaa", "gaa", "Caa", "taa", "aga" , "gga", "Cga", "tg—a", "aca", "gca" , "CCa", n
tca", "ata", "gta",

"cta", "tta", "aag", "gag", "Cag", "tag", "agg", "ggg", "ng", "tgg" , "acg", "
gcg", "ccg", "tcg",

"atg", "gtg", "ctg", "ttg", "aaC", "gacl', "CaC", "tac", "agC", "ggC", "CgC" , Al
tgcll, "aCC", "gcc",

"CCC","tCC","atC","gtC","CtC","ttC","aat","gat","Cat","tat","agt","
ggt" Al Cgt" " tgt"
! ! "act",, llgct", "Cct", lltct", "att", llgtt", "Ctt", "ttt"};

int i,9,%;

if (end<=endlé&&startl<=end)return 0;

if (start<=endlé&é&startl<=start)return 0;

if (strcmp (top, "acca") !'=0&&strcmp (top, "gcca") !'=0&&strcmp (top, "tcca™) !'=0&&s
trcmp (top, "ccca") !=0) return 0;//tRNA gulo acca,or tcca,or ccca, Or gcca
fprintf (£, "%d.\n", no++) ;

j=strlen (top);

for(i=j-1;i>=0;--1)

{

for (k=0;k<16;++k)
forintf(£," "),
fprintf (£, "%c\n", top[i]);
}

for (1=0;1i<32;++1)

{ for (3=0;73<80;++7)
fprintf (£, "%c", mat[i][J]1);

fprintf (£, "\n") ;

}

for (1=0;1<64;++1)



if (strcmp (anti,anticodon[i])==0)
{
fprintf (f,"trna - %s ( %s
)\n",acid[i],anticodon[i]); fprintf (f,"trna length - %d\n", LENGTH) ;

fprintf (£1,"%$s\t%s\t\t",acid[i],anticodon[i]);

if (start-1==endl)

fprintf (f,"trna sequence complement ($d - %d)\n\n\n",startl,end);
else

fprintf (f,"trna sequence complement ($d - %d,%d -
%$d) \n\n\n", startl, endl, start, end) ;

fprintf (f1,"%s\t%c-%c\t%c-%c\t%c-%c\t%c-%c\tsc-%c\tsc-%c\tsc-%c\t

",p4,a arm[0],a arm[l],a arm[2],a arm[3],a arm[4],a arm[5],a arm[6],a arm
[7],a arm[8],a arm[9],a arm[1l0],a arm[ll],a arm[l2],a arm[13]);

fprintf (f1,"%c-%c\t %c-%c\t %$c-%c\t %c-%c\t

",d arm[0],d arm[1l],d arm[2],d arm[3],d arm[4],d arm[5],d arm[6],d arm[7]
) ;

fprintf (£f1, "%$c-%c\t %c-%c\t %$c-%c\t %c-%c\t %c-%c\t
",ac_arm[0],ac_arm[l],ac_arm[2],ac _arm[3],ac_arm[4],ac_arm[5],ac arm[6],a
c arm[7],ac_arm[8],ac _arm[9]);

fprintf (f1,"%c-%c\t %c-%c\t %$c-%c\t %c-%c\t %$c-%c\t

",t arm[1l],t arm[0],t arm[3],t arm[2],t arm[5],t arm([4],t arm[7],t arm[6]
,t arm([9],t arm[8]);

fprintf (f1,"%c-%c\t %c-%c\t %$c-%c\t %c-%c\t %c-%c\t %c-%c\t %c-
sc\tsc\tsc\tsc\tss\t%40s\t",bp[7],bp[13],bp[14],bp[47],bp[17],bp[54],bpl[1l
8]1,bp[55],bp[25],bp[43],bp[31],bp[37],bp[53],bp[57],bp[8],bp[20],bp[32],p
21p3);

if (start-1==endl)

{
for (i=0;1<20;1i++)
sp2[il=sp3[il="-";sp2[1i]=sp3[i]="\0";

fprintf (£f1,"%s\t%s\t%s\t%3s\t%s\t%ss\tss\tss\t%s\t",spl, sp2,sp3,sp4,p,stl,s
t2,bhl,bh2);

if (add==2) fprintf (f1, "$s\n", "Mathing 1st and 4th");

else if(add==1) fprintf (fl,"%$s\n","Exists bh loop");

else if (add==3) fprintf (f1,"%s\n","Mathing 1lst and 4th AND Exists bh
loop");

else if (add==4) fprintf (fl,"%s\n","Mathing 1st and 4th AND bh loop does
not exist");

fflush(f);
fflush(£fl);
}

/*promo (char *p,int 1,char *p4)

{



int 1i,3,k;

for (1=0;i<6;++1)pd[1]="-";
p4[i]="\0";

for (i=0;1i<1-6;1i++)

{

if(plil=="a'l|pli]l=="t")
if(p[i+l]!="g'&&p[i+l]!="c")
if(pl[i+2]!="g'&&p[i+2]!="c")
if (p[i+3]!="g'&&p[i+3]!="c")
if(pl[i+4]!="g'sa&p[i+4]!="c")
if(p[i+5]=="c"'||p[i+5]=="t")
{
k=0;
for (j=i+5;3>=1i;--j)pd[k++1=p[]];

p4[k]="\0";
return O;

return 0;

*/

void main ()

{

char
mat[32] [80]/*p/anti[5]rcrbp[64] rp2[7]={'\O'}1p3[41]={'\O'}1p4[7]={'\0' }r*
ql*rr*ql;
char a arm[14],d arm[8],ac arm[10],t arm[10];
FILE *f2,*fl,*f,*£3,*f4;
int
n=0,n1=0,1i=0,3,1,total=0,%k,11,end, flag=0,12,totall=0,kl, flag2=0,total2=0,
to,m;
int pflag=0,0 n,o nl;
char spl[61l],sp2[21],sp3[21],sp4[61l], *cq;
char bhl[16],bh2[16],st1[15],st2[15],top[5];
int add;

FILE *f h,*s h,*cf h,*cs_h;
fl=fopen ("out.txt","a+");
f=fopen ("3d bp.txt","a+");
fprintf (f, "Type\tAnticodon\tpromo\t1-72\t2-71\t3-70\t4-69\t5-68\t6~

67\t7-66\t10-25\t11-24\t12-23\t13-22\t27-43\t28-42\t29-41\t30-40\t31~-
39\t49-65\t50-64\t51-63\t52-62\t53-61\t8-14\t15-48\t18-55\t19-56\t26-



44N\t32-38\t54-58\t9\t21\t33\tEND \t\t\tSTART\t\t\t Ist\t\t
2nd\t\t3rd\t\td4th\t\tlength\t\t 1lst string\t\t2nd string\t\t
bhl\t\tbh2\t\tstatus\n") ;

printf ("Enter range :");
scanf ("%d%d", &LENGTH, &end) ;

//f2=fopen ("input.txt","r+b");
// if (f2==NULL) printf ("file not open\n");

// while (! feof (£2))

// {

// c=fgetc (f2);

// if(c>='a'&&c<='z"')break;
// }

// 1=ftell (£2);1--;fseek(f2,1*sizeof (char), SEEK SET);

f4=fopen ("input.txt","r+b");
if (f4==NULL) printf ("file not open\n");
while (! feof (£4))
{
c= fgetc (£4);
if(c>="a'ss&c<="z"){//fprintf (£3,"%c",c);
total2++; }
}

//fflush (£3);

//k=ftell (£f4);
// k—-;
//totall=k;
//f3=fopen ("temp.txt","r+b") ; f2=fopen ("input.txt", "w+b") ;

// fseek(f4,k*sizeof (char),SEEK SET);

fseek (f4,0*sizeof (char),SEEK SET);
to=total?2;

g=(char*)malloc((to+l) *sizeof (char))
cg=(char*)malloc((to+l) *sizeof (char)

) ;

//printf ("Total2=%d\n",total2);



fclose (£f4);

f4=fopen ("input.txt","r+b");
if (f4==NULL) printf ("file not open\n");

i=0;
while (! feof (f4))

{
c=fgetc(f4);//if (feof (f2))break;;

if(c>='a'ssc<="z")
{
qlit++]=c;//n++;//12=ftell (£2);

//if (1>=38)
// {

qlil="\0";

if (flag==0)
{
f3=fopen ("temp.txt", "wtb") ;
fseek (f4,0*sizeof (char), SEEK SET);
while (!feof (f4))
{

c= fgetc (£4);
if(c>="a's&c<="z") {//fprintf (£3,"%c",c);
total++; }

}

//fflush (£3) ;

k=ftell (f4);//printf ("k=%d\n", k) ;getch () ;
//fclose (£3);fclose (£2);
11=0;
k==;
//f3=fopen ("temp.txt","r+b") ; f2=fopen ("input.txt", "w+b") ;

fseek (f4,k*sizeof (char), SEEK SET);

do/{
c=fgetc(f4);//printf ("%c\n",c);getch();



if(c>="a's&c<="z")
{

if(c=="a')
c="'t"';
else 1if(c=="t")
c="a'
else if(c=="c")
c_lgl
else if(c=='g")
c='c'

fseek(f4,k*sizeof (char), SEEK SET);

}while (k>=11);
fflush (£3);

flag=1;

}

fclose(f4);

//f2=fopen ("temp.txt","r+b");
//fclose (f4) ;

fid=fopen ("temp.txt","r+b");

//total2=0;

//while (! feof (£4))

//

/17

//
//
//

//

{
c= fgetc (£4);

if(c>="a'&s&c<="z") {//fprintf (£3,"%c",c);

total2++; }
}

//fflush (£3);

fseek (f4,0*sizeof (char), SEEK SET);
//to=total2;

//g=(char*)malloc ((to)*sizeof (char));

//printf ("Total2=%d\n", total2);

i=0;
while (! feof (£4))

{
c=fgetc (f4);//if (feof (£2) )break;;

if(c>='a'&&c<="z")

{

cqli++]l=c;//n++;//12=ftell (£f2);



//

//if (1>=38)
{

cqlil="\0";

gl=(char*)malloc((41) *sizeof (char));
r=(char*)malloc ( (LENGTH-40+6) *sizeof (char)) ;

f h=fopen("first half.txt","w+");

cf h=fopen("comp first half.txt","w+");
s_h=fopen ("second half.txt","w+");
cs_h=fopen ("comp second half.txt","w+");

for (n=0;n<=to-39;n++)

{
J=0;

//printf (" n=%d\n",n+1);

for (i=n;i<n+40;++1)
ql[3++1=qlil;ql[31="\0";
//total2=to;
//flag2=0;
for (1=5;1>=0;--1)
if ((l=check first(gl,j-i)) !=0)
{
//flag2=1;
fprintf (£ h,"$d\t%d\n",n,1);

break;

for(nl=to-1;nl1>=LENGTH-40;nl--)
{

j=0;//flag=0;
for (i=nl; j<LENGTH-40;--1)
r{j++]1=qli];

r[j]1="\0"';//total2=i+1;

if (check 2nd(r)==1)
{

fprintf(s_h,"%d\n",nl);
}



for (n=0;n<=to-40;n++)
{
j=0;
//printf (" n=%d\n",n+1);

for (i=n;1i<n+40;++1)

qllj++]l=cqglil;ql[j]="\0";
//total2=to;
//flag2=0;
for (i=5;1i>=0;--1)
if ((l=check first(qgl,j-i)) !=0)
{

//flag2=1;

fprintf (cf h,"%d\t%d\n",n,1);

break;

for (nl=to-1;nl1>=LENGTH-40;nl--)
{

3=0;//flag=0;
for (i=nl; j<LENGTH-40;--1)
r[j++]1=cqlil;

r(j]="\0";//total2=1i+1;

if (check 2nd(r)==1)
{
fprintf (cs h,"%d\n",nl);

}

fflush(f h);
fflush(s_h);
fflush(cf h);
fflush(cs_h);

fclose
fclose
fclose
fclose

f h);
s _h);

ct h
cs h

’

—~ o~~~

)i
) ;

f h=fopen("first half.txt","r+");

cf h=fopen("comp first half.txt","r+");
s_h fopen("second_half txt", "r+") ;
cs_h=fopen ("comp second half.txt","r+");



while (LENGTH<=end)

o n=-1;
p=(char*)malloc ( (LENGTH+1) *sizeof (char)) ;

gl=(char*)malloc((41) *sizeof (char));
r=(char*)malloc ( (LENGTH-40+6) *sizeof (char));

rewind(f h);

while (!feof (f h))
{

fscanf (£ _h,"%d%d", &n, &1) ;if (n==0_n)break;else o n=n;
j=0;
//printf (" n=%d\n",n+1);

for (i=n;i<n+1;++1)
ql[j++]=q[i];ql[j]='\0';rewind(s_h);o_n1=—l;

//if(ql[j-4]1=="¢t")
A

while (!feof (s _h))
{
fscanf(s_h,"%d", &nl);if (nl==o0 nl)break;else o nl=nl;
j=0;//flag=0;
for (i=nl; j<LENGTH-1;--1)
r{j++]=qli];

r[j]="\0"';total2=1i+1;

pflag=0;

//for (m=0;m<=5;++m)
//{
for (1i=0, 3j=0;i<strlen (gl) ;i++)
plj++]l=ql[i];
//p[j1="\0";

for(i=strlen(r)-1;i>=0;--1)
plj++l=rli];
pl3]l="\0";
//strcat(p,q);
//printf ("g=%d\n", strlen(q)-m) ;
//printf ("r=%d\n", strlen(r)-4+m) ;
//printf ("p=%d\n", strlen(p));getch();



//printf ("OK %s %d\n",p,strlen(p));getch();

for (1=0;1<32;++1)
for (j=0;j<80;++j)mat [
for (i=0;1<64;++i)bpli

il [31=" ";
="

// if (pflag==0)
// {

if (build trna gg(p, LENGTH,mat,anti,bp,a arm,d arm,ac_arm,t arm)==1)
{

for (i=n-1,9=0;1i>=0&&j<60;--1)
spl[j++]1=qli];
spl[jl="\0";

for (i=total2-1,3=0;1i>=0&&3<20;--1)
sp3[j++]=qli];
sp3[Jj]1="\0";

for (i=n+1+1-1,3=0;1i<to&&j<20;++1i)
sp2[j++]=qli];
sp2[31="\0";

for (i=total2+LENGTH-1,3=0;1i<to&&j<60;++1)
{sp4ljl=qli];if (j<4)top[jl=qli];
Jj++i}
sp4[j1="\0"';j=0;while (top[j++]>="a') ;top[--
j1="\0";

for(i=n+1+1-1-6,3=0;1i<to&&j<12;++1)
if (n+l==total2)bhl[j++]="-";
else
bhl[j++]=qli];

bh1[3]1="\0";

for (i=total2-1,j=0;1i>=0&&73<10;--1)
if (ntl==total2)bh2[j++]="-";
else
bh2 [j++]=g[i];

bh2[§1="\0";

add=0;

if (n+tl==total2)add=math 1lstr 4th(spl,spd4,stl,st2)>074:0;

else

add=bh loop(bhl,bh2)+math 1lstr 4th(spl,sp4,stl,st2);



pflag=1l;

//printf ("OK1\n"); getch();
if (add>1)

display(mat,anti,bp,a arm,d arm,ac arm,t arm, fl, f,n+1l,n+l,total2+1,
total2+LENGTH-1,p2,p4,p3,spl, sp2,sp3,sp4,p,add, stl,st2,bhl,bh2, top) ;
}
/*else
if (build trna ag(p,LENGTH,mat,anti,bp,a arm,d arm,ac_arm,t arm)==1)

{

for (i=n-1,3=0;1i>=0&&73<60;--1)
spllj++]1=qli];
spl[j1="\0";

for (i=total2-1,3=0;1i>=0&&73<20;--1)
sp3[j++]l=qli];
sp3[j]="\0";

for (i=n+1+1-1,3=0;1i<to&&j<20;++1i)
sp2[j++]=qli];
sp2[31="\0";

for (i=total2+LENGTH-1,3=0;1i<to&&j<60;++1)
spd[j++]1=qli];
sp4[j]="\0";

for (i=n+1+1-1-10,J=0;1i<to&&j<15;++1)
if (ntl==total2)bhl[j++]="-";
else
bhl[j++]=q[i];

bh1[j]="\0";

for (i=total2-1+5,3=0;1>=0&&7j<15;--1)
if (ntl==total2)bh2[j++]="-";
else
bh2 [§++]1=q[i];

bh2[j]1="\0";

add=0;

if (n+tl==total2)add=math 1lstr 4th(spl,sp4,stl,st2);

else

add=bh loop(bhl,bh2)+math 1lstr 4th(spl,sp4,stl,st2);



pflag=1l;

//printf ("OK1\n"); getch();
if (add>0)

display(mat,anti,bp,a arm,d arm,ac arm,t arm,fl, f,n+1,n+l,total2+1,
total2+LENGTH-1,p2,p4,p3,spl,sp2,sp3,sp4,p,add,stl,st2,bhl,bh2);
}

else if (build trna cg(p,LENGTH,mat,anti,bp,a arm,d arm,ac_arm,t arm)==1)

{

for (i=n-1,3=0;1>=0&&73<60;--1)
spl[j++]1=qgli];
spl[jl="\0";

for (i=total2-1,3=0;1i>=0&&73<20;--1)
sp3[Jj++]l=qli];
sp3[j]="\0";

for (i=n+1+1-1,3=0;1i<to&&j<20;++1i)
sp2[j++]=qli];
sp2[31="\0";

for (i=total2+LENGTH-1, j=0;1i<to&&j<60;++1)
spd[j++]1=qli];
sp4[j]="\0";

for (i=n+1+1-1-10,3=0;1<to&&j<15;++1)
if (n+l==total2)bhl [j++]="-";
else
bhl[j++]=ql[i];
bhl[j]="\0";

for (i=total2-1+5,3=0;1>=0&&73<15;--1)
if (ntl==total2)bh2[j++]="-";
else
bh2 [§++]1=q[i];

bh2[j]1="\0";

add=0;

if (n+tl==total2)add=math 1lstr 4th(spl,sp4,stl,st2);

else

add=bh loop(bhl,bh2)+math 1lstr 4th(spl,sp4,stl,st2);



pflag=1l;

//printf ("OK1\n"); getch();
if (add>0)

display(mat,anti,bp,a arm,d arm,ac arm,t arm,fl, f,n+1,n+l,total2+1,
total2+LENGTH-1,p2,p4,p3,spl,sp2,sp3,sp4,p,add,stl,st2,bhl,bh2);
}

else if (build trnaSabs (p, LENGTH,mat,anti,bp,a arm,d arm,ac_arm,t arm)==1)

{

for (i=n-1,3j=0;1>=06&6&3<60;--1)
spllj++]1=qli];
spl[j1="\0";

for (i=total2-1,3=0;1i>=0&&73<20;--1)
sp3[Jj++]l=qli];
sp3[j]="\0";

for (i=n+1+1-1,3=0;1i<to&&j<20;++1i)
sp2[j++]=qli];
sp2[31="\0";

for (i=total2+LENGTH-1,3=0;1i<to&&j<60;++1)
spd[j++]1=qli];
sp4[j]="\0";

for (i=n+1+1-1-10,J=0;i<to&&j<15;++1)
if (ntl==total2)bhl[j++]="-";
else
bhl[Jj++]1=g[i];
bh1[31="\0";

for (i=total2-1+5,3=0;1>=0&&73<15;--1)
if (n+l==total2)bh2[j++]="-";
else
bh2 [Jj++]=qli];

bh2[j]="\0";

add=0;

if (n+tl==total2)add=math 1lstr 4th(spl,sp4,stl,st2);

else

add=bh loop(bhl,bh2)+math 1lstr 4th(spl,sp4,stl,st2);



pflag=1;

//printf ("OK1\n"); getch();
if (add>0)

display(mat,anti,bp,a arm,d arm,ac arm,t arm,fl, f,n+l,n+l,total2+1,
total2+LENGTH-1,p2,p4,p3,spl, sp2,sp3,sp4,p,add, stl,st2,bhl,bh2);
}*/

}
}

rewind(cf h);

o n=-1;
while (!feof (cf h))
{
fscanf (cf h,"%d%d", &n, &l);if (n==o0 n)break;else
o n=n;

j=0;

//printf ("complemented n=%d\n",n+1) ;

for (i=n;i<n+1;++1)
gll[j++]l=cqlil;ql[j]="\0";

//total2=to;

rewind(cs h);o nl=-1;

while (!feof (cs_h))
{

fscanf(cs h,"%d",&nl);if (nl==o0 nl)break;else o nl=nl;

3=0;//flag=0;
for (i=nl; j<LENGTH-1;--1i)
r[j++]=cqlil;

r[j1="\0";total2=1i+1;

pflag=0;//k=--kl;fseek(f4,k*sizeof (char),SEEK SET);



// for (m=0;m<=5;++m)
A
for (i=0,3J=0;i<strlen(gl);i++)
plj++]=qlli];
//pl31="\0";

for(i=strlen(r)-1;i>=0;--1)
pli++]l=rlil;

pl3jl='\0";

//strcat (p,q);

for (1=0;1<32;++1)
for (3=0;73<80;++7)

mat [i] [F]=" "',
for (i=0;i<64;++i)bp[i]="

L
’

//if (pflag==0)
// {

if (build trna gg(p, LENGTH,mat,anti,bp,a arm,d arm,ac_arm,t arm)==1)
{

pflag=1;

for (i=n-1,3=0;1i>=0&&73<60;--1)
spllj++]l=cqli]l;
spl[jl="\0";

for (i=total2-1,3=0;1>=0&&3j<20;--1)
sp3[j++l=cqlil;
sp3[j1="\0";

for (i=n+1, §=0; i<to&&j<20; ++1)
sp2[J++]1=cqlil];
sp2[31="\0";

for (i=total2+LENGTH-1,3=0;1i<to&&j<60;++1)

{spd4[jl=cqli];if (j<4)toplJl=cqlil;j++;}

spd[j]1="\0";3=0;while (top[j++]>="a') ;top[--
j1="\0";

for (i=n+1+1-1-6,3=0;1i<to&&j<12;++1i)
if (ntl==total2)bhl[j++]="-";
else
bhl[j++]=cqli];

bh1[§]1="\0";

for (i=total2-1,3=0;1i>=0&&73<10;--1)
if (ntl==total2)bh2[j++]="-";
else
bh2[§++]=cqli];



bh2[j]1="\0";
add=0;

if (ntl==total2)add=math 1str 4th(spl,sp4,stl,st2)>07?4:0;

else

add=bh loop(bhl,bh2)+math 1lstr 4th(spl,sp4,stl,st2);

if (add>1)

cdisplay (mat,anti,bp,a arm,d arm,ac_arm,t arm,fl,f,total-
(n+l1)+1,total-(n+1l)+1,total-(total2+LENGTH-1)+1,total-
(total?),p2,p4,p3,spl,sp2,sp3,sp4,p,add,stl,st2,bhl,bh2, top);
}

/*else
if (build trna ag(p,LENGTH,mat,anti,bp,a arm,d arm,ac_arm,t arm)==1)

{

pflag=1l;

for (i=n-1,3=0;1i>=0&6&3<60;--1)
spllj++]=cqli]l;
spl[jl="\0";

for (i=total2-1,3=0;1>=0&&7<20;--1)
sp3[j++]l=cqlil;
sp3[j1="\0";

for (i=n+1,j=0;1i<to&&j<20;++1)
sp2[j++l=cqlil;
sp2[j]="\0";

for (i=total2+LENGTH-1,j=0;1<to&&j<60;++1)
spd[j++]=cqlil];
spd[jl="\0";

for (i=n+1+1-1-10,3=0;1i<to&&j<15;++1)
if (n+l==total2)bhl [j++]="-";
else
bhl[j++]=cqli];



bhl[j]="\0";

for (i=total2-1+5,3=0;1i>=0&&3<15;--1)
if (n+l==total2)bh2[j++]="-";
else
bh2 [j++]=cqli];

bh2[j]1="\0";

add=0;

if (n+tl==total2)add=math 1lstr 4th(spl, sp4,stl,st2);

else

add=bh loop(bhl,bh2)+math 1lstr 4th(spl,sp4,stl,st2);

if (add>0)

cdisplay(mat,anti,bp,a arm,d arm,ac_arm,t arm,fl,f,total-
(n+1)+1,total-(n+1l)+1,total-(total2+LENGTH-1)+1, total-
(total?),p2,p4,p3,spl,sp2,sp3,sp4,p,add,stl,st2,bhl,bh2);
}

else if(build trna cg(p,LENGTH,mat,anti,bp,a arm,d arm,ac arm,t arm)==1)

{

pflag=1l;

for (i=n-1,3j=0;1>=0&&3<60;--1)
spll[j++]l=cqlil;
spl[jl="\0";

for (i=total2-1,3=0;1i>=0&&3<20;--1)
sp3[j++]l=cqlil;
sp3[j1="\0";

for (i=n+1, §=0;i<to&&j<20; ++1)
sp2 [J++]1=cqlil];
sp2[31="\0";

for (i=total2+LENGTH-1,j=0;1<to&&j<60;++1)
sp4[j++]1=cqlil;
sp4[J1="\0";

for(i=n+1+1-1-10,J=0;i<to&&j<15;++1)
if (n+l==total2)bhl [j++]="-";
else
bhl[Jj++]=cqli];

bh1[j1="\0";

for (i=total2-1+45,3=0;1>=0&&3j<15;--1)
if (n+tl==total2)bh2[j++]="-";



else
bh2[j++]1=cqli]l;
bh2[j]="\0";
add=0;

if (n+tl==total2)add=math 1lstr 4th(spl,sp4,stl,st2);

else

add=bh loop(bhl,bh2)+math 1lstr 4th(spl,sp4,stl,st2);

if (add>0)

cdisplay(mat,anti,bp,a arm,d arm,ac_arm,t arm,fl,f,total-
(n+tl)+1,total-(n+l)+1,total-(total2+LENGTH-1)+1,total-
(total2),p2,p4,p3,spl,sp2,sp3,sp4,p,add, stl,st2,bhl,bh2);
}

else if (build trnaSabs (p, LENGTH,mat,anti,bp,a arm,d arm,ac_arm,t arm)==1)

{

pflag=1;

for (i=n-1,3=0;1i>=0&&73<60;--1)
spl[j++]=cqli]l;
spl[jl="\0";

for (i=total2-1,3=0;1i>=0&&3<20;--1)
sp3[j++]l=cqlil;
sp3[J1="\0";

for (i=n+1,j=0;1<to&&j<20;++1)
sp2[j++]=cqli];
sp2[3]="\0";

for (i=total2+LENGTH-1,j=0;1<to&&j<60;++1)
sp4[j++l=cqlil;
spd[j]="\0";

for(i=n+1+1-1-10,3J=0;i<to&&j<15;++1)
if (ntl==total2)bhl[j++]="-";
else
bhl[j++]=cqli];

bh1[j]="\0";



for (i=total2-1+5,3=0;1>=0&&73<15;--1)
if (ntl==total2)bh2[j++]="-";
else
bh2[j++]1=cqli]l;

bh2[j]="\0";

add=0;

if (n+tl==total2)add=math 1lstr 4th(spl,sp4,stl,st2);

else
add=bh loop(bhl,bh2)+math lstr 4th(spl,sp4,stl,st2);

if (add>0)

cdisplay(mat,anti,bp,a arm,d arm,ac_arm,t arm,fl,f,total-
(n+1)+1,total-(n+1l)+1,total-(total2+LENGTH-1)+1, total-
(total?),p2,p4,p3,spl,sp2,sp3,sp4,p,add,stl,st2,bhl,bh2);
}*/

}
}

//fclose (f4);
printf ("Length=%d completed\n", LENGTH) ;

LENGTH++;
}

printf ("Completed\n") ;getch();



